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m) It was also claimed that Gandhi’s power was superior to that of the English
Monarch and with his arrival colonial rulers would flee the district.

v)  Stories spread of dire consequences for those who opposed him.

v)  Who criticized Gandhi found their houses mysteriously falling apart or their
crops failing.

vi)  Gandhiji appeared to the Indian peasants as a saviour, who would rescue
them from high taxes and oppressive officials and restore dignity and autonomy
to their lives.

For Example

1) Sikandar Sahu from a village said, that he will believe in Mahatmaji When the
Karah (boiling pan) full of sugar cane juice split in to two. Immediately the
pan split in two from the middle.

1) A cultivator in Azamgarh said he would believe in Mahatma if sesamum
sprouted on his field planted with wheat. Next day all the wheat in that field
became sesamum. Due to his miraculous powers he was called Gandhi Baba,
Gandhi Maharaj or Mahatma.

(Assess as a whole)
Page — 353
PARTD
Source based questions
1) Banabhatta was the author of ‘Harshacharita’

i)  The outskirts being for the most part forest many parcels of rice land, threshing
ground and arable land were being apportioned by small farmers. It was
mainly spade culture. Due to problem of ploughing the sparsely scattered
field was covered with grass. The soil was as stiff as black iron.

m)  There were people moving with bundles of bark, sacks of plucked flowers,
loads of flax and hemp bundles, quantities of honey, peacocks tail feathers,
wreaths of wax, log and grass. Main activities of farmers were tilling, ploughing
the field, bringing land under cultivation. Farmers of today also do the same
with improved technology and also sell their product to the government.

(Any other relevant point)

v)  Village women hastened to neighbouring villages with the thought of selling
various forest fruits they had gathered and kept in their baskets on their head.

Page — 40
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. 1)

OR

‘Devanampiya Piyadassi’ refers to emperor Ashoka. He was a powerful,
industrious and humble king. (Any other relevant point)

i)  Hisinscriptions are important as that was the way he spread his ideas among
his subjects. It is also a valuable source about the reign of Ashoka.

(Any one point)
. Limitations

1) Letters are faintly engraved and thus reconstructions are uncertain.

i)  Inscriptions at times are damaged or have missing letters.

i)  Exact meanings of words used is also not easy to be sure of.

iv)  Deciphering is also a problem.

(Any two points)

m)  After the war of Kalinga,Ashoka was devoted to an intense study of Dhamma,
to the love of Dhamma to instructing the people in Dhamma. He adopted
Buddhism, gave up war.

The king was repenting after war of Kalinga because he saw hundred thousand
of men were killed and many more died. He was pained to see so much
slaughter, death and deportation of people.

v)  Any otherrelevant point.

Page — 48

1) Bernier saw at Lahore a most beautiful young widow being scarified who
could not have been more than twelve years of age. She appeared to be
more dead than alive.

i)  When she approached the pit, the agony of her mind could not be described,
she trembled and wept bitterly unwilling to be burnt alive.

i)  Three or four of the Brahmanas assisted by an old woman held her under
the arm, b) forced the unwilling victim toward the fatal spot, seated her on
the wood, tied her hands and feet, that she could not run away and in that
situation the innocent creature was burnt alive.

OR
1) They made cords with which they sew up ships instead of using iron

nails.
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ii)

iif)

1v)

ii)

b)  They made cables for vessels.
¢) Asafruit
Coconut trees produce nuts as its fruits and palm trees produce dates

The nut of a coconut tree resembles a man’s head for in it are what look like
two eyes and a mouth and the inside of it when it is green looks like the brain,
and attached to it is a fiber which looks like hair.

Allow students to express their own opinion. Judge on miret.

Gandhiji wished to see the day when Hindus and Muslims would do nothing
without mutual consultation. He wished that the league did not regard
any Indian as its enemy as Hindus and Muslims were born of the same
soil, had same blood, ate same food, drank the same water and spoke the
same language.

Demand for Pakistan was un-Islamic because Islam stands for the unity and
brotherhood of mankind. It did not disrupt the oneness of human family. Those
who wanted to divide India into possible warring groups were enemies of
Islam and India alike.

He felt that nobody was going to listen to him. Leaders from both communities
had their own selfish interest.

Any other relevant point
Page 390
OR

The Sikh youth had to run away in fear of being caught. He had to hide his
wife in a pit. She had fever and he was helpless and could not take her to the
hospital. (Any two points)

Social workers and policemen wanted to recover the Muslim girl as
commissions were set up to ensure returning of women to their own families
and society. (Any other relevant point)

They got married. They fell in love with each other and were very happy
together when a son was born to them.

The girl had to be hidden from the police. She was expecting and had to
deliver in a pit. She ran high fever and he could not take her to the hospital
because of fear of being caught. She died after three days.

Page — 395
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PARTE
As per map on page 49
As per map on page 50
For blind candidates in lieu of map questions nos. 22 and 23.
Five territories under British control

Punjab, Sind, Bihar, Bengal, Orissa, Awadh Calcutta, Dacca, Chittagong, Patna,
Banaras, Lucknow, Allahabad, Surat, Bombay, Berar, Madras, Fort St. David,
Masulipatam.

(Any five)

Mention any five important Places in south India during fourteenth to eighteenth
centuries.

Bidar, Golconda, Bijapur, Vijayanagar, Kolar, Mysore, Kanchipuram,
Madurai, Thanjavur, Chandragiri.
(Any five)

204



For question no. 22

-

YR &1 T@- 187 (O-ifas

Outline Map of India (Political)

= )

Crarer Port

205



w33 €. 22 & fau

Outline Map of India (Political)

Fer question no. 22

WA T Y@ W ()

206



or question no. 23
>

¥ . 23 & faw -
Outline Map of India (Political) , -
WA &1 G- Al (i), ;

A BA’ERACJ&PORE

© sougiae,
.

R
»
A\ Y

207



POLITICAL SCIENCE

Time allowed : 3 hours Maximum Marks : 100

s N
GENERAL INSTRUCTIONS :

(i) All questions are compulsary.

(ii)) Question numbers 1 to 10 are of one mark each. The answers to these questions

should not exceed 20 words each.

(iii) Question numbers 11 to 20 are of two marks each. The answers to these questions

should not exceed 40 words each.

(iv) Question numbers 21 to 30 are of four marks each. The answers to these

questions should not exceed 100 words each.

(v) Question numbers 31 to 35 are of six marks each. The answers to these questions

should not exceed 150 words each.

(vi) Question number 31 is based on the map. Write the answer of this question in

the Answer Book.

QUESTION PAPER CODE 59/1/1

1.  Whatis meant by 'Cold War' ? 1
2. Define 'Shock Therapy'. 1
3. State any one main objective of the 'Human Rights Watch'. 1

4. Why human security is more important in the contemporary world than territorial
security? 1

5. Why were the States reorganized on linguistic basis in India in 1956 ? 1

6.  When and where was the First non-Congress State Government formed after India's
independence? itla =1

7. Jammu and Kashmir State comprises of which three social and political regions? 1
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

In which year did the Congress Party win 415 Lok Sabha seats? Who became the
Prime Minister at that time?

What is the main reason behind the secessionist movements in the North-East India?
What was the main objective of the Dalit Panthers?

Why is it said that the collapse of Berlin Wall signified the collapse of the bi-polar
world?

Why do we need organisations like the U.N. ?

How can hegemony be overcome?

State any one measure to deal with terrorism as a new source of threat to security.
Why do indigenous people need special protection to protect their rights?

Explain the role played by Sardar Patel in the unification of the Princely States in India.
Enumerate any two principles of Nehru's Foreign Policy.

Why did the Communist Party of India splitin 1964 ?

What does' Aaya Ram - Gaya Ram' stand for in Indian politics?

What is meant by Ayodhya dispute?

What is the rationale of the Non-Aligned Movement after the end of Cold War?

Why was the U.S. attacked by the terrorists on 11th September, 2001 ? How did
the U.S. react to it ?

What led to the evolution of the European Union from an economic union to an
increasingly political one?

Suggest any four reforms required to make the United Nations more effective.

"Global commons have not only common, but differentiated responsibilities." Do
you agree with this view? Why?
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26.

217.

28.

29.

30.

31.

What is meant by globalization? Explain any three cultural consequences of
globalization.

Describe any four factors which played an important role for the dominance of
the Congress Party in India till 1967.

Highlight the developments in India's nuclear programme.
Explain the impact of coalition governments on Indian politics.

Tt is not enough to have representative form of democracy. It is necessary to
participate in popular movements to make democracy a success.' Do you agree
with this view? Why?

Examine any six factors which led to the disintegration of the former Soviet Union.

OR

Study the political outline map of the world given below in which' six different
countries have been marked as (1), (2), (3), (4), (5) and (6). Identify these
countries and name them. Also classify them as First World, Second World and

Third World countries. Write your answer in the Answer-Book as per the following

format:
No. of the Name of the First World/Second World/
Country Country Third World
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32.

33.

For Blind Candidates only in lieu of Q. No. 31

Classify the following countries into First World, Second World and Third World

countries:
(a) Canada (b)  Argentina (© Russia
(d)  South Africa (¢) India and ® China

Explain the three types of U.S. hegemony and give suitable examples for each.
OR
'India and China are emerging as great economic powers.' Do you agree? Justify

your answer with any three arguments.

Assess the outcome of planned development towards the foundation of India's
economic growth and land-reforms.

OR

Explain any two causes of the partition of India in 1947. Analyse its any four major

consequences.
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34.

35.

10.

11.

Why was the national emergency declared in India on June 25, 1975 7 Analyse any
three consequences of this emergency.

OR

Evaluate any three factors which were responsible for Indira Gandhi's achieving a
thumping majority in 1971 Lok Sabha elections.

What is meant by Chipko Movement? When did it start and where? What is the
significance of this movement in the conservation of the environment?

OR

"Towards the end of the 1980s, five major changes took place in Indian political
system.' In the light of this statement, examine any three changes.

QUESTION PAPER CODE 59/1

"Non-alignment does not imply neutrality or equidistance." What is meant by this
statement?

What is the new name of former USSR?

What is the main function of Amnesty International ?

What is human security?

Differentiate between 'one party dominance' and 'one party system'.

What were the election symbols of the Congress Party and Bhartiya Janasangh in
the first general election of 1952 ?

Differentiate between regionalism' and 'separatism'.
What is meant by Chipko Movement?
How faris it correct to say that India is a world power?

Which two diametrically opposite political groups supported the National Front
Governmentin 1989 ?

What was the main objective of the New International Order?
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28

29.

Mention any four names of the countries belonging to the SAARC.

How many member-countries have got Veto power in the U.N. Security Council
and why?

What is meant by non-traditional notions of security?
Define Geo-politics.

What was meant by Princely States? How many Princely States were there in India
at the time of independence?

Differentiate between Modernization and Westernization as developmental goals.
Why has India refused to sign the C.T.B.T. ?
How did the Congress Party succeed in maintaining its dominance till 1967 ?

Give any two arguments in favour of reservations for the SCs, STs and OBCs in
higher educational institutions in India.

Describe any four consequences of the disintegration of Soviet Union.

How far is it correct to say that the 9/11 attack on the World Trade Centre was the
attack on the US hegemony? Explain.

What were the objectives behind the formation of the ASEAN in 1967 ?
Describe any two important components of India's security strategy.
Define globalisation. How is it different from internationalisation ?
Explain India's stand on environmental issues.

Briefly explain the role played by the opposition parties in India.

. "Foreign policy is always dictated by national interests." Do you agree with this view?

Support your answer with any two suitable arguments.

Examine the factors which helped in the restoration of the Congress Party after its
splitin 1969.
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30.

31.

32.

33.

34.

35.

Whatis alliance politics? How has it influenced the Indian politics ?
What led to the emergence of a bipolar world? Highlight the arenas of Cold War
between the two power blocks?
OR
Analyse India's changing relationship with post-Communist Russia.
Like India, why could democracy not take roots in Pakistan despite the fact that
both the countries shared a common past?
OR
What are the major differences between the SAARC and the European Union as

alternative centres of power?

What were the major challenges of building democracy in India?

OR
What were the early initiatives taken by the Planning Commission for building a new
India?
Explain the major issues which were responsible for the formal split of the Congress
Party in 1969.

OR
What were the major conflicts between the Parliament and the Judiciary during the
leadership of Indira Gandhi?
Explain any three elements of consensus which have emerged among most political

parties after the Lok Sabha elections of 2004.

OR
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Study the given political outline map of North-East India in which six states have
been marked as (A), (B), (C), (D), (E) and (F). Identify these states with the help of
information provided below and write their names along with their respective letters
1e. (A), (B), (C), (D), (E) and (F) in your answer book.

(i)  Two states which were not part of the state of Assam at the time of India's
independence.

(i)  The state whose leader signed an agreement with Rajiv Gandhi in 1986.
@) The state which declared independence from Indiain 1951.
(iv) The state which was carved out of Assam in 1972.

(v)  The 22nd state of India due to its merger. 241+1+1+1=6
Note: The following question is for the Blind Candidates only, in lieu of Q. No. 35.

Answer the following questions:
(1)  Which state became the 22nd state of India due to its merger?

(i) Name the state whose leader signed an agreement with Rajiv Gandhi in
1986.
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@) Which state of North-East India declared its independence in 1951 ?
(iv)  Which state was carved out of Assam in 1972 ?

(v)  Which two states among the seven sisters were not part of Assam at the time
of independence? I+1+1+14+2=6
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MARKING SCHEME- POLITICAL SCIENCE

-

General Instructions

Please examine each part of the question carefully and allocate the marks allotted for the
parts as given in the marking scheme. TOTAL MARKS FOR ANY ANSWER MAY
BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE ANSWER ENDS.

The answers given in the marking scheme are suggested answers. The content is thus
indicative. The candidates may express the content in various forms. But, for the
standardization of evaluation it is advisable to follow the marking scheme suggested
here on the basis of expected content. However, full credit be given if any other

relevant and correct definitions / points / answers are given by the candidate.

Wherever only /three or a “given” number of examples/factors/points are expected,
and first two/three or expected number should be read. The rest are irrelevant and

need neither be examined nor any credit be given for the same.

There should be no effort redarding the “moderation” of the marks by the evaluators.

The actual total marks obtained by the candidate are of no concern to the evaluators.

Some of the questions relate to higher order thinking ability. These questions have been
indicated with an asterisk. These questions are to be valuated carefully, so that, the

candidate's understanding/analytical ability be judged.

The Head-Examiners have to go through the first five answer-scripts evaluated by each
evaluator to ensure that the evaluation has been carried out as per the instructions given
in the marking scheme. The remaining answer scripts meant for evaluation shall be given
only after ensuring that there is no insignificant variation in the marking of individual

evaluator.

Separate marking scheme for all the three sets are being provided.
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QUESTION PAPER CODE 59/1/1

EXPECTED ANSWERS/VALUE POINTS

Q1. Whatis meant by ‘ Cold War?

Ans. Cold war means a conflict of ideologies between two superpowers i.e.
American and Soviet blocs without resorting to actual warfare.

Q2. Define ‘Shock Therapy’.

Ans. After the disintegration of Soviet Union ,the process of transition from
authoritarian socialist system to a democratic capitalist system influenced
by the World Bank and International Monetary Fund is known as ‘Shock
Therapy’.

Q 3. State any one main objective of the * Human Rights Watch’.

Ans.

i) To do research and advocate Human Rights.

ii)  To draw the attention of global media to Human Rights’ abuses.

iii)  To stop the use of child soldiers and to establish International Criminal
Court.

(any one objective)
Q4. Why human security is more important in the contemporary world than territorial
security?

Ans. Human Security is more important than territorial security in the
contemporary world because a secured state does not mean security of its
people. During the last 100 years more people have been killed by their
own governments rather than by foreign armies.

Q 5. Why were the States reorganized on linguistic basis in India in 1956?
Ans.

i) The States were reorganized on linguistic basis under the pressure of
people’s movements.

ii)  Inorder to preserve the diverse culture of India
( any one)
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Q6. When and where was the first non-Congress State Government formed after India’s
independence? 1ax 2=1

Ans. (i) 1957 (ii) Kerala

Q7. Jammu and Kashmir State comprises which three social and political regions? 1
Ans.

i Jammu

ii) Kashmir

iii) Ladakh
Q8. Inwhich year did the Congress Party win 415 Lok Sabha seats? Who became the

Prime Minister at that time? ax2=1
Ans.

i) 1984

ii)  RajivGandhi

Q9. What is the main reason behind the secessionist movements in the North-East India? 1
Ans.

i) Isolation of the region.

ii) Complex social character of the North -East States.

iii) Backwardness of States compared to other parts of the country.

(any one)

Q10. What was the main objective of the Dalit Panthers? 1
Ans.

i) For assertion of Dalits’ Rights.

ii)  Protest against caste -based inequalities and material injustices.

iii) Effective implementation of reservation policy and policies of social
justice.

Or any other relevant point

(any one point )
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QI1.

Ans.

Q12.
Ans.

Q13.
Ans.

Q14. State any one measure to deal with terrorism as a new source of threat to security.

Ans.

Why is it said that the collapse of Berlin Wall signified the collapse of the bi-polar

world?

The Berlin Wall separated East Berlin ( Pro Soviet Bloc) from West Berlin
(Pro-US Bloc). After 28 years it was demolished by the people in 1989
which marked the unification of the two parts of Germany and the beginning

of the end of Communist bloc which culminated later into the disintegration
of USSR which led to the collapse of the bipolar world ultimately.

Why do we need organizations like the U.N. ?

i)
ii)
i)

iv)

To resolve the conflicts and differences among the nations.
To resolve the problems of different countries peacefully.
To promote co-operation among different nations.

To provide rules , regulations and mechanism for co-operation to avoid
mistrust and mismanagement. (any two)

How can hegemony be overcome?

i)

i)

iv)

1.

Through Social movements and public opinion.
Through sections of the media , intellectuals, artists and writers.
Resistance to hegemony and criticism against it.

To take advantage of the opportunities created by hegemony instead
of acting against it.

As far as possible staying far away from the dominant power.
(any two)

International co-operation to combat terrorism.
Co-operative security measure.

(any one to be briefly explained)
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Q15. Why do indigenous people need special protection to protect their rights?

Ans.

Q16. Explain the role played by Sardar Patel in the unification of Princely States in India.
Ans.

Q17.
Ans.

Q18.
Ans.

Indigenous people need special protection to protect their rights
because issues related to their rights have been neglected since people
of different culture or ethnic origin arrived there from other parts of
the world and overcame them .

Threat to their survival due to loss of land which is the main source of
their livelihood.

i) Sardar Patel procured Instrument of Accession from the Princely States
through diplomacy and negotiations.

ii) Four Princely States which resisted the merger were Hydrabad,
Junagarh, Manipur and Kashmir. They were made to sign the
Instrument of Accession by using displomacy and persuation in order
to become a part of Indian Unine.

Or any other relevant point

Enumerate any two principles of Nehru’s Foreign Policy.

i) Non-alignment.

ii)  Panchsheel.

iii)  Good relations with neighbouring countries.

iv) Independent foreign policy.

v)  World Peace.

(Any two to be briefly explained)
Why did the Communist Party of India splitin 1964?
Cause of split:

Due to the ideological rift between pro-Soviet and pro-China factions of the

Communist Party. (To be explained)
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Q 19. What does ‘ Aaya Ram-Gaya Ram’ stand for in Indian politics?

Ans. The practice of frequent floor-crossing by legislators.

(To be briefly explained)

Q 20. What is Ayodhya dispute ? Explain

Ans. Itis a dispute between Hindus and Muslims over Babri Masjid at Ayodhya.

Some Hindus believe that the mosque was built after demolishing the temple
of Lord Rama, believed to be his birth place. The other community does not

agree to it. So, both the communities stake their respective claims over the

land.

Q 21.What is the rationale of Non-aligned Movement after the end of Cold War?

Ans.

iii)

Non-aligned Movement encourages independent initative which is
relevant for all time.

Afro-Asian unity is still relevant which was one of the objectives of
NAM.

Mutual co-operation among developing countries continues to be
relevant.

Or any other relevant point  (Any two points to be briefly explained)

Q22. Why was the U.S. attacked by the terrorists on 11th September,2001? How did
the U.S. react to it?

i)
ii)

To attract the attention of public and governments all over the world.

US reaction was swift and ferocious and it adopted a policy of Global
War on Terror.

. “Operation Enduring Freedom” was launched against all
suspects namely Al-quada and the Taliban regime of Afganistan.

. US forces made arrests all over the world.

. Many of the arrested were taken to Guantanamo Bay i.e. US
Naval Base in Cuba where they did not enjoy the protection of
international law. The law of their own country or the US laws.

. UN representatives were not allowed to meet the prisoners.
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Q23. What led to the evolution of the European Union from an economic union to an
increasingly political one ? 4

Ans.
i) The creation of European Parliament.

ii)  Collapse of Soviet Union resulted in the establishment of European
Union in 1992.

iii) Common foreign and security policy, co-operation, justice and home
affairs, single currency.

iv) EU acts like a nation state with its own flag, anthem, founding date.

Q24. Suggest any four reforms required to make the United Nations more effective. 4x1=4
Ans. Suggested Reforms:

i) Increase the number of the permanent and non-permanent members
of Security Council.

ii)  Increase membership from Asia, Africa and South America.

iii) Need of a more effective role in peace and security missions.

iv) More emphasis on development and humanitarian work.

v)  Abolish or modify Veto Power.

Or Any other relevant point. (any four points)

Q25. “Global commons have not only common, but differentiated responsibility.” Do you

agree to this view? Why 4
Ans. Yes

i) The developed countries of the North want the discussion on
environmental issues as they stand and want everyone to be equally
responsible for ecological conservation. The developing countries of
the South hold that the developed countries are responsible for
most of the ecologicsl degradation and hence want them to take more
responsibility for undoing the damage.

ii)  Developing countries are in the process of industrialization and want
differentiated restrictions to take care of the special needs of
developing countries.
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Note: In case a candidate answers in no, he/she must support the answer with

Q26.

Ans.

Q27.

Ans

Q28.
Ans.

appropriate arguments.
What is meant by globalization? Explain any three cultural consequence of
globalization.

The exchange of ideas, capital, commodities and people across different
parts of the world stands for globalization.

Cultural consequences of globalization
i) It affects our food, clothes and thinking.
ii)  Rise of uniform culture.

iii) Culture of politically and economically dominant society affects the
less powerful societies.

iv)  Exchanges our choices and modifies our culture.
v) It poses a threat to cultures of the world.
vi) Some external influence reduces our choices.
Or any other relevant point. (any three points)

Describe any four factors which were responsible for the dominance of the Congress
Party in India till 1967.

i) Congress inherited the legacy of the National Movement.
ii)  Congress was the only party to have an organisation spread all over Indian.

iii) Many freedom-fighters preferred to contest elections in Independent
India as Congress candidates.

iv) Impact of charismatic leadership of Nehru.

v)  In the First and the Second Lok-Sabha elections, Congress achieved
364 seats out of 489 and 371 out of 494 respectively.

Or any other relevant point

Highlight the developments in India’s nuclear programme.

i) First nuclear explosion by India in 1974.
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Q29.
Ans.

Q30.

Ans

Nehru’s faith in science and technology for building a modern India.

Generation of Atomic energy for peaceful purposes as Nehru was
against nuclear weapons.

India pleaded with Super powers for Comprehensive Nuclear
Disarmament.

India considered the Non-proliferation Treaty as discriminatory and
hence refused to sign it.

Explain the impact of coalition governments on Indian politics.

Beginning of an era of multi-party system as no single party could
secure a clear majority.

The newly emerged groups played an important role in the running of
the United Front Government of 1996.

BJP did not support the UF Government but it was supported by
Congress.

In 1989, Left and BJP supported National Front Government to keep
Congress out of power.

1996 Left and Congress joined hands to keep BJP out of power.

In 1996 elections BJP emerged as the largest party and was invited
to form the government but it failed to get the support of other parties
to secure majority in Lok Sabha.

BJP led a coalition government in 1999 and NDA complated its full
term of S years.

From 1999 onwards no government could be formed without the
participation or support of regional parties.

Hence, the cralition governments have come to stay. Howeres, smaller
parties insist on sharing power as well as pressurise to get their wishes
fulfilled.

(Any four points)

‘It is not enough to have representative form of democracy. It is necessary to
participate in popular movements to make democracy a success’. Do you agree to
this view. Why?

i)

The popular movements came up in order to rectify problems in the
party politics and hence are an integral part of democratic politics.
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Q3l1.

ii)

iii)

vii)

viii)

ix)

They represent new social groups whose economic and social
grievances were not redressed in electoral politics.

They ensured effective representation of diverse groups and their
demands.

They reduce the possibility of deep social conflicts.
They suggested new forms of active participation.

Routine function of democratic governments fail to provide enough
space of voices of social groups.

They make the people aware of their rights.

They bring people having similar problems , demands and expectations
close to each other.

They expand democracy through steps such as Right to Information (RTT).

(to be briefly described) (any four points)

Examine any six factors which led to the disintegration of the former Soviet Union.

Or

Study the political outline map of the world given below in which six different countries
have been marked as (1), (2), (3), (4), (5) and (6). Identify these countries and
name them. Also classify them as countries of the First World, Second World and

Third World. Write your answer in your Answer-Book as per the following format:

No. of Country Name of the Country First World/Second

World/Third World)

6xVa+6xV=6

Note: For Blind Candidates only in lieu of Q.No. 31

Classify the following countries in First World, Second World and Third World

countries:
a) Canada b) Argentina ¢) Russia
d)South Africa e) India f)  China
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Ans. Disintegration of USSR

i)

Internal weakness of Soviet political and economic institutions failed
to meet the aspirations of the people.

ii) Economic stagnation led to severe shortages of consumer goods.

iii) Economic burden on the country due to use of resources in maintaining
huge nuclear and military arsenal.

iv)  Awareness of citizens about economic development in the West.

v)  Soviet stagnation in administration and political fields.

vi) Unwillingness of the system towards openness and over-emphasis on
centralization of authority.

vii) Reforms and loosening of the system by Gorbachev increased
nationalist dissatisfaction.

viii) Desire for sovereignty and rise of nationalism among various
Republics of the USSR.

(any six points)
Or
Sr.No. Name of the Country First World/ Second
World Third War

1. Egypt I

2. Australia I

3. Turkey I

4. Brazil I

S. Poland II

6. Myanmar I

Note : For Blind Candidates only

a)
b)
©)
d)

Canada I
Argentina I
Russia II
South Africa I
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Q32.

Ans.

e) India III
f) China I

Explain the three types of U.S. Hegemony and give suitable examples for each. 3x2=6
OR

‘India and China are emerging as great economic powers’. Do you agree? Justify
your answer with any three arguments. 6

Hegemony as hard power

a)  US enjoys overwhelming superiority as a military power. In absolute
term, US has military capabilities that can lethally destroy any point
on planet but safeguard its own force. US dominates the world in the
highest military spending as well as qualitative and technical
advancements e.g. US attack on Iraq

b)  Hegemony as structural power is related to economics dominance. It
is reflected in providing global goods by U.S. like fresh air, sea lines
of communication, free trade etc. US has emerged as a formidable
naval power that commands laws of sea and navigation in international
matters

Internet is an example of global public goods as it is the outcome of
US military research project and relies on US owned satellites e.g.
World Bank, IMF, WHO are the products of US hegemony

c¢) Hegemony as Soft power is related to the cultural presence of the US
in the world. It has the capacity to ‘manufacture current ideological
resources’. It shapes and influences the weaker powers by using
persuation, pressurization etc. e.g. Blue jeans in Soviet Union.

OR

I agree to the statement that India and China are emerging as great
economic powers.

i) Regionally and globally, China has become an economic power to
reckon with.

China has resolved its outstanding issues with countries like Japan,
USA, Russia etc safeguarding her economic interests.

ii) China’s investment and aid to Latin America and African countries
and projecting itself as a global player.
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Q33.

Ans.

iii) China and India’s access to WTO has opened them to the outside
world.

(i) Like China, India is also emerging as a great economic power. (ii)
India gradually regained after independence, following the policy of
mixed and planned economy. (iii) Under the impact of globalization
India’s economy is growing internationally. The day is not far off,
when it will be the top economy of the world along with China.

Assess the outcome of planned development towards the foundation of India’s
economic growth and land reforms.

Or

Explain any two causes of the partition of India in 1947. Analyse its any four
major consequences.

Economic Growth

i) Largest development projects like Bhakhra-Nangal and Hirakud were
built for irrigation and power generation.

ii) Heavy industries in public sector were started- Steel plants, oil
refineries, manufacturing units, defence production etc.

iii) Improvement in infrastructure facilities such as transport and
communication.

Land reforms

i) Abolition of zamindari and consolidation of land reforms were
undertaken.

ii)  Food sufficiency was achieved through Green Revolution.

iii) Government gave guarantee to buy the produce of the farmers at
given price.

Or any other relevant point.
Or
Causes of partition of India in 1947 :

i) Two nation theory as advanced by the Muslim League led to the
demand for Pakistan.

ii)  Several political developments in 1940s.
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iiif)

iv)

Rivalry between the Congress and the Muslim League.
The British policies to follow the principle of religious majorities.

Or any other relevant cause.
(any two causes)

Consequences

i) Partition was one of the largest, most abrupt, unplanned and tragic
transfer of population that human history has known.

ii)  Ruthless killings, force and fear to abandon homes and movements
across border, sufferings etc.

iii) Partition was not merely a division of properties, liabilities and assets.
It forced lakhs of people to migrate.

iv)  The problem of integration of Princely States.

Or any other relevant point.

Q 34.Why was the national emergency declared in India on June 25,1975? Analyse any

three consequences of the emergency.

Evaluate any three factors which were responsible for Indira Gandhi’s achieving

Or

a thumping majority in 1971 Lok Sabha elections.

Ans. National Emergency was declared on June 25, 1975 because :-

i)

iv)

Allahabad High Court declared Indira Gandhi’s election to Lok Sabha
invalid on 12 June, 1975 on the basis of using governmental machinery
for election campaign.

On June 24, Supreme Court granted her partial stay till her appeal
was decided.

Jayaparkash Narayan organized a massive nationwide demonstration
to press for Indira’s resignation on 25th June 1975.

There was an undercurrent threat to bring the government to a stand
still. (Any three)

Consequences of Emergency :

i)

Strikes were banned.
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Q35.

Ans.

ii)  Political leaders were jailed.
iii) Freedom of speech was suspended.

iv)  Press censorship was imposed, members had to get prior permission
for all material to be published.

V) R.S.S. and Jamait-elslami were banned.
vi) Many Fundamental Rights were suspended.

vii) Preventive detention was used extensively.
( any three points to be explained briefly)

Or
Three factors for Indira Gandhi’s achieving a thumping majority in 1971:

i) Congress came up with a positive programme on an issue, agenda and
positive slogan of ‘Garibi Hatao’.

ii)  Focus on Public Sector growth.

iii) Imposition off ceiling on rural land holdings and urban properties.
iv) Removal of disparities in income and opportunities.

v)  Abolition of princely privileges.

vi) Congress support was generated and base was extended among the
disadvantaged.

(Any three points to be explained briefly)
What is meant by Chipko Movement? When did it start and where? What is the
significance of this movement in the conservation of the environment?
Or

Towards the end of the 1980s, five major changes took place in Indian political

system. In the light of this statement, examine any three changes.

i) Chipko Movement is a novel tactic of villagers to protest against the
practice of Commercial logging that the government had permitted
by hugging the trees to prevent their cutting.

ii) Itstarted in 1972 in a village in Uttrakhand.
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iii) The Chipko movement took up economic issues of landless forest
workers who were enraged due to government’s policy.

iv)  Women’s active participation in forest conservation.

Control of natural resources like land, water and forests by the local
communities It became a symbol of awareness for many other popular
movements for conservation of environment in other parts of the country

(briefly explain any three points)
Or

Ans. Major changes in Indian political system:

Ql.

Ans.

Q2.
Ans.

Q3.
Ans.

i) Defeat of Congress party in elections held in 1989.
ii)  Rise of Mandal issue in national politics.

iii) Decision by new National Front Government in 1990 to implement the
recommendations of Mandal Commission.

iv)  Economic policies followed by various governments towards the New
Economic Reforms.

v)  Demolition of disputed structure of Ayodhya in 1992.

vi) Assassination of Rajiv Gandhi in 1991 led to the change in the
leadership of the Congress.

vii) Beginning of the era of coalition and alliance politics.
(any three to be briefly explained)

QUESTION PAPER CODE 59/1
EXPECTED ANSWERS/VALUE POINTS

“Non-alignment does not imply neutrality or equidistance .” What is meant by this
statement?

Neutrality refers principally to a policy of staying out of war. Keeping equal
distance means not to join either of the two power blocs.

‘What is the new name of former USSR?

Russia.

What is the main function of Amnesty International?

Compaigns for the protection of human rights all over the world.
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Q4.

Ans.

Q5.

Ans.

Qe6.

Ans.

Q7.

Ans.

Q8.

Ans.

QO.

Ans.

Q10.

Ans.

Ql11.
Ans.

Ql2.
Ans.

What is human security?

Protection of people more than the protection of the states.

Differentiate between ‘ one party dominance’ and ‘ one party system’

A party having an over-whelming majority in the legislature is one party
dominance whereas when the Constitution permits only a single party to
rule the country it is one party system.

What were the election symbols of Congress Party and Bhartiya Janasangh in the
first general elections of 19527
Congress Party-two oxen.

Bhartiya Jan Sangh-Earthen Lamp.

Differentiate between ‘ regionalism and separatism’.

Addressing regional identity, aspirations and specific regional problems only
is regionalism. Political conflicts over issues of power of regions, their rights
and separate existence is separatism.

What is meant by Chipko Movement?

Women’s movement by hugging the trees in order to prevent the forest
contractors from cutting the trees in Uttrakhand.

How far is it correct to say that India is a world power ?

India is not a world power, however it is in the process of emerging as a
world power.

Which two diametrically opposed political groups supported the National Front

Government in 19897

BJP and the Left Front.

What was the main objective of the New International Order ?

Economic development of least developed countries and to lift their people
out of poverty.

Mention any four names of the countries belonging to the SAARC.

Any four — India, Pakistan, Nepal, Bhutan, Srilanka, Bangladesh, Maldives.
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Q13.

Ans.

Q14.
Ans.

Ql15.
Ans.

Q16.

Ans.

Q17.
Ans.

Q18.
Ans.

Q19.
Ans.

How many member- courtries have got Veto power in the U.N. Security Council
and why ?

Five. Larger and effective involvement of great powers without which the
U.N. would be ineffective.
What is meant by non-traditional notions of security?

Non-Traditional notions of security has two aspects—Human Security and
Global Security. Human security includes hunger, disease, natural disasters,
genocide, terrorism. While global security has threat such as global -warming,
epidemics like Aids, Bird Flue etc.

(Any four)
Define Geo-politics.

Politics relating to uninterrupted supply of strategic resources, in particular,
oil from Gulf countries and minerals from Central - Southern Africa as
well as West and Central Asia are the inportant aspects of Geo-polities.

What was meant by Princely States. How many Princely States were there in
India at the time of independence.

Before the independence several large and small states which were ruled
by princes, -who had control over their internal affairs as well as accepted
Britsh supremacy. Their number was 565.

Differentiate between Modernization and Westernization as developmental goals.

Modernization is associated with the ideas of the growth, national progress,
and scientific rationality.

Westernization, on the other hand is the break down of traditional social
structure and the rise of capitalism and liberalism.

Why has India refused to sign the C.T.B.T.?
India did not sign the C.T.B.T. because it was —
i) Selectively applicable to the non-nuclear powers.

ii) Legitmised the monoply of five nuclear powers.

How did the Congress Party succeed in maintaining its dominance till 1967?
Any two-

i) Heritage of national movement;
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Q20.

Ans

Q21.
Ans.

Q22.

Ans.

Q23.
Ans.

ii)  Well-organized party with organizational level, down to local levels;
iii) Nehru’s charismatic leadership;
iv)  Congress as a social and ideological forum gained popularity, and

v) Tolerance and management of factions within the party did not
raisehue and cry.

Give any two arguments in favour of reservation for SCs, STs and OBCs in
higher educational institutions in India.

These sections constitute a large segment of Indian society who remained
deprived of their upliftment in social and economic fields. It applies to their
right to higher education.

Describe any four consequences of the disintegration of Soviet Union.

. End of Cold war confrontation;
. Emergence of U.S. as a sole super power;
. Rise of capitalistic economy backed by IMF and World Bank;.

. Emergence of many new countries with their own identity , interests,
as well as economic and political difficulties.

(any other relevent point.) (to be explained briefly)

How far is it correct to say that the 9/11 attack on the World Trade Centre was an
attack on the US hegemony? Explain.

9/11 attack was an attack on the U.S. hegemony because of reaction to
operation infinite Reach launched by America with missile attacks on
Sudan and Afghanistan especially on Al-Quada targets. U.S. launched Global
war on terror through operation enduring freedom against Taliban regime
and Al-quada in Afghanistan, specially on Al-quada targets. Their remnants,
no doubt have remained potent.

What were the objectives behind the formation of the ASEAN in 19677

. Toaccelerate economic growth;

. To encourage social progress and cultural development;

. To promote regional peace and stability based on rule of law and charter
of United Nations;and

. ASEAN Way i.e. respect for internal sovereignty.
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Q24. Describe any two important components of India’s security strategy.
Ans.

i) Strengthening its military capabilities.

ii)  Strengthening international norms and international organizations.

iii) Meeting security challenges within the country.

iv) Developing economy in a way to lift the citizens out of poverty,

misery and huge economic inequalities.

(explaine briefly)

Q25. Define globalization. How is it different from internationalization?

Ans. Globalization is world wide interconnectedness through flow of ideas, people
moving in search of better livelihood, commodities and technology.

Internationalism promotes peace, helps in solving problems where nations

must work together, like disease, global warming etc.

Globalization plays an important role in the promotion of internationalism.

Q26. Explain India’s stand on environmental issues.

Ans. India’s stand is :-

i) Per capita emission rates of developing countries are a fraction of

those in the developed world.

ii)  Following the principle of common but differentiated responsibility,
the major responsibility of curtailing emissions rests with developed
counties which have accumulated emissions over a long period of

time.

iii)  Relies heavily on principles such as enshrined in UNFCC.

iv) Indiais participating in global efforts through a number of programmes
like Atomic Fuel Policy, Energy Conservation Act, Electricity Act of

2003 etc.

Q 27.Briefly explain the role of opposition parties in India.
Ans.

i) Criticism of policies and practices of the ruling party/ alliance.

ii)  Keeping the ruling party/alliance under check.
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Q28.

Ans.

Q29.

Ans

Q30.
Ans.

iii) By Providing political and democratic alternatives.

iv) Preventing the resentment against the system from turning anti-
democratic.

“Foreign Policy is always dictated by national interests.” Do you agree with this

view. Support your answer with any two suitable arguments.

Yes, Foreign policy is always dictated by national interests. India’s
leadership pursued the national interests within the prevailing international
situation.

i) Distance from the two camps.

ii)  Afro-Asian unity.
( to be briefly explained)

“Examine the factors which helped in the restoration of the Congress Party after
its split in 1969.

The new Congress had an issue, an agenda and a political slogan while Grand
Alliance did not have any coherent political programme.

These factors were :- Garibi Hatao; Growth of public sector, imposition of
ceiling on rural land holdings and urban property, removal of disparities in
income and opportunity; abolition of princely privileges ( any three)

What s alliance politics? How has it influenced the Indian politics?

Forming a coalition either to form a government or oppose a government is
alliance politics.

Influence on Indian Politics:

i) Agreement on new economic policies.

ii)  Acceptance of political and social claims of backward classes.
iii) Acceptance of State level parties in the governance of the country.

iv) Emphasis on pragmatic considerations rather than ideological
positions and shifting the focus of political parties from ideological
difference to power sharing arrangements.

(any three)

Q31. What led to the emergence of bipolar world? What were the arenas of cold war

between the two power blocks?
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Ans.

Ans.

Q32.

Or
Analyse India’s changing relationship with post Communist Russia
After the second world war :-

i) Emergence of United States and Soviet Union as greatest powers in
the world with ability to influence events everywhere on the earth.

ii)  Beginning of cold war and nuclear capability by both rivals.
iii) Formation of power blocs.
Arenas of Cold war

Cuba Missile Crisis; Confrontation in Korea ( 1950-53), Berlin ( 1958-62),
Congo Crisis ( Early 1960s) etc. (any three)

(to be briefly explained)
Or

India has maintained good relations with all the erstwhile socialist countries
but most cordial relations are still those between Russia and India.

i) Embedded in the history - trust and common interests.

ii)  Both share vision of multipolar world, collective security, greater
regionalism, negotiated settlements of international conflicts, an
independent foreign policy for all countries etc.

iii) Democratisation and empowerment of bodies like the U.N.
iv) More than 80 bilateral agreements have been entered into.

vi) India benefits on issues like Kashmir issue, energy supplies, sharing
information, access to central Asia, balancing the relation with China.

v)  Russia benefits — India is second largest arms market for Russia, most

Army - hardware from Russia, help during oil crisis, energy imports etc.
Like India, why could democracy not take roots in Pakistan despite the fact that both
the countries share a common past?

Or

What are the major differences between the SAARC and the European Union as
alternative centres of power?

238



Ans.

Q 33.

Ans.

Social dominance of military, clergy and land owning aristocracy.
i) Paramilitary groups more powerful due to conflict with India.

ii) A myth- Pakistans’ security could be harmed by selfish minded parties
and chaotic democracy.

iii) Lack of genuine international support for democratic rule in
Pakistan.U.S. and other Western nations have encouraged the military
authoritarian rule in their own interest for fear of global Islamic
Terrorism. (Explain)

Or

EU is an outome of European Economic Community and has 12 members,
whereas SAARC is a regional initiative to evolve co-operation through
multi-lateral means and has 7 members. E.U. has its own flag, anthem,
currency, common foreign and security policy, co-operation on justice and
home-affairs whereas SAARC does not have any of them,.

E.U. is the world’s biggest economy and GDP larger than that of United
States - SAARC has no joint economy.

E.U. has international influence in economic organizations like W.T.O It
also has political and diplomatic influence. SAARC has no such influence.
SAARC members have signed ( SAFTA- free trade zone for South Asia).
E.U. has large military strength. Its total spending on defence is second
after the U.S., SAARC has no such military/defence entity.

What were the major challenges of building democracy in India?
Or

What were the early initiatives taken by the Planning Commission for building a
new India?

i) Shaping a nation united and accommodative of diversity of languages,
cultures and religions.

ii)  Establishing democracy- representative government based on
parliamentary form of government.

iii) Development and wellbeing of the entire society and not only of a
few sections.

239



Q34.

Ans.

iv)

Effective policies for economic development and eradication of poverty.

Or

Adoption of Five year Plans to focus on the

agrarian sector including investment in dams and irrigation.
land reforms ;

raising the level of national income;

rapid industrialisation- stress on heavy industries.

socialist pattern of society was the goal as was reflected by second
Five Year Plan. (to be briefly explained)

Explain the major issues which were responsible for the formal split of the Congress
Party in 1969.

Or

What were the major conflicts between the parliament and the judiciary during the

leadership of Indira Gandhi .

Indira Gandhi’s contest with Morarji Desai for Prime Minister-ship
after the death of P.M. Lal Bahadur Shastri .

Senior Congress leaders thought that Indira Gandhi would depend upon
them for their support and guidance in administrative and political
matters. She set out to control the party and demonstrated the
leadership.

Non-Congressism,internal factions in Congress;
Electoral verdict- political earthquake;
Indira vs Syndicate.

Presidential Election-1969-defeat of official Congress candidate.

vii) Split into Congress (0) and Congress (R).

(to be briefly explained )
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Ans.
i) Can the Fundamental Rights be abridged ?Supreme Court disagreed.

ii)  CanParliament curtail the right to property? Supreme Court answered
in negative.

iii) Parliament amended the Constitution saying that it can abridge
Fundamental Rights for giving effect to Directive Principles.Supreme
Court rejected this provision also.

Keshvanand Bharti Case- In this case Supreme Court said that
Fundamental Rights are sacrosanct.

Supreme Court said, there are certain basic features of the
Constitution and the Parliament cannot amend these features.

Appointment of Justic A.N. Ray as Chief Justice setting aside the
seniority of three judges.
Q35. Explain any three elements of consensus which have emerged among most political
parties after the Lok Sabha elections of 20047 3x2=6
Or

Study the given political outline map of North-East India in which six states have
been marked as A, B, C, D, E and E Identify these states with the help of information
provided below and write their names alongwith their respective alphabets i.e. A,
B, C, D, E and F in your answer-book.

1) Two states which were not part of the state of Assam at the time of India’s
independence.

i)  The state whose leader signed an agreement with Rajiv Gandhi in 1986.

m)  The state which declared independence from Indiain 1951.

iv)  The state which was carved out of Assam in 1972.

v)  The 22nd state of India due to its merger. 2+1+1+1+1=6
Ans. Elements of consences:- Any three

i) Agreeement on new economic policies.

ii)  Acceptance of political and social claims of the backward classes-
support for backward classes in education and employment.

iii) Acceptance of role of state -level parties in the governance of the
country.
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Ans.

Note :

Ans.

iv)

Emphasis on pragmatic consideration rather than ideological positions.
(to be briefly explained ) ( any three)
Or

C-Tripura D-Manipur
F-Mizoram

E-Nagaland
B-Meghalaya

A-Sikkim

The following question is for the Blind Candidates only, in lieu of Q.No. 35

Answer the following questions:

)

i)

iii)
iv)

V)

Which states became the 22nd state of India due to its merger?

Name the state whose leader signed an agreement with Rajiv Gandhi in
1986.

Which state of North-East India declared its independence in 1951.
Which state was carved out of Assam in 19727

Which two states among the seven sisters were not part of Assam at

the time of independence.

Sikkim
Mizoram
Nagaland
Meghalaya

Tripura and Manipur
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GEOGRAPHY

Time allowed : 3 hours Maximum Marks : 70

Ve

N
GENERAL INSTRUCTIONS :

(i) There are 26 questions in all.
(ii) All questions are compulsary.
(iii) Marks for each question are indicated against it.

(iv) Question numbers 1 to 10 are very short answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 20 words.

(v) Question numbers 11 to 20 are short answer questions carrying 3 marks each.
Answer to each of these questions should not exceed 80 words.

(vi) Question numbers 21 to 25 are long answer questions of 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vii) Question number 26 is related to identification or locating and labelling of
geographical features on maps.

(viii) Outline maps of the World and India provided to you must be attached within
your answer book.

(ix) Use of templates or stencils for drawing outline maps is allowed.

. J
QUESTION PAPER CODE 64/1/1

1. Which continent has the highest growth rate of population? 1
2. Which country has the lowest sex ratio in the world? 1
3. Name the two activities on which the earliest human beings were dependent for

their sustenance. itlha=1
4. Whatis ahousehold industry? 1
5. Givethe significance of river St. Lawrence as an inland waterway. 1
6.  Give the meaning of human settlement. 1
7. Whatis the contribution of India in the production of rice in the world? 1
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10.

11.

12.

13.

14.

Name the first major sea port of India developed after independence.

Which sector of economy accounted for the highest percentage of India's total value
of exports in 2003-2004 ?

Name the two metropolitan cities which are the main polluters of river Ganga before
itreaches Varanasi.

Explain the concept of Determinism' with suitable examples.

Divide the population of the world into two groups on basis of residence. How do
they differ from each other? Explain any two points of difference.

What is the importance of 'dairy farming' ? Why is it mainly practised near urban
and industrial centres of the world? Explain any two reasons.

Study the table and answer the questions that follow:

World Imports and Exports (in millions of U.S. $)

3x1=3

1+2=3

1+2=3

1+1+1=3

1955 1965 1975 1985 1995

2005

Exports 95,000

Total Merchandise

1,90,0008,77,000, | 19,54,000 | 51,62,000

1,03,93,000

Imports
Total Merchandise

99,000 |1,99,000(9,12,000 | 20,15,000 | 52,92,000

1,07,53,000

Note:

15.

(14.1)  Which decade shows the highest increase of total value of imports and

exports of goods and services?
(14.2)  How much s the increase in total value of exports during 1955 to 2005 ?

(14.3)  Why does the need for trade arise?

The following question is for the BLIND CANDIDATES only, in lieu of
Q. No. 14:

What is international trade? Why does international trade exist? Explain.

Mention the famous oil pipeline of the U.S.A. How are pipelines one of the most
convenient mode of transport? Explain any four points.
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16.  Why are ports called 'gateways of international trade' ? Explain any three reasons.
17.  Explain any three factors that determine the type of rural settlements in India.

18.  Study the given diagram and answer the questions that follow:

Surface Water Withdrawals Groundwater Withdrawals
Domcstic Domestic
I 9%
i ' Industnal lnd_usirial
2% 5%
Agriculturc Agriculture
89 % 92 %

(18.1) Which sector accounts for most of the groundwater utilisation? Give one
reason.

(18.2)  Why s the share of water utilization in domestic sector lower in groundwater
as compared to surface water?

Note: The following question is for the BLIND CANDIDATES only, in lieu of Q. No. 18 :

Why is the demand of water for irrigation increasing day by day in India? Explain
any three reasons.

19. Explain any three major objectives of the 'New Industrial Policy' of India, which
was announced in 1991.

20. Describe any three major problems related to water in India.

21.  "Services are very important aspect for economic development of a country."
Analyse the statement by explaining five components of a service sector.

22.  What are rural settlements? What are the two types of the rural settlements in the
world? How are they different from each other? Give three points of distinction.

23.  Explain with examples the occupational structure of India's population.

24.  Describe any five major problems related to Indian Agriculture.
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25.  Define the term 'Road Density'. Explain with examples the two main determinants
of road density in India. 1+2+2 =5

26. (26.1) Inthe given political Outline Map of the World, the following four
features are shown: 4xV2 =2
(A) The major area of commercial livestock rearing.
(B) The major Sea Port:
(C) The major Air Port.
(D) The Mega City

Identify these features and write their correct names on the lines marked
near each feature.

(26.2) Inthe given political Outline Map of India, locate and label the following
with appropriate symbols: 3x1=3

(i)  The State having lowest density of population.
@) The oil refinery located in West Bengal.
@) The major sea port located in Goa.
Note: The following questions are for the BLIND CANDIDATES only, in lieu of
Q. No. 26
(26.1) Name any one major sea port located on the western coast of North America.
(26.2) Name the coastal mega city of Brazil.
(26.3)  Which state of India has the lowest density of population?
(26.4) Name the oil refinery located in West Bengal.

(26.5)  Which is the major sea port in Goa ? 5x1=5
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Outline Map of India (Political)

Map for Q. No. 26.2
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10.

I1.

12.

13.

14.

15.

16.

QUESTION PAPER CODE 64/1

Which parts of U.S.A. and Europe have density more than 200 persons per sq. km.?

Define the term 'positive growth of population'.

What is nomadic herding?

Which is the busiest sea route in the world?

Name the terminal stations of the 'Orient Express' Railway.

Name the metropolitan city of Karnataka State as per 2001 census.
Name any two ferrous minerals other than iron ore.

Which port has been developed to relieve the pressure of Chennai Port?

Name the air service which is widely used in the hilly areas of the north-eastern

sector of India.
Which source of pollution is responsible for acid rain?
Explain the concept of 'New Determinism' with a suitable example.

Explain with examples the three economic factors influencing the population distri-

bution in the world.

What is subsistence agriculture? Mention any four characteristics of primitive sub-

sistence agriculture.

How are technological innovations an important aspect of modern manufacturing

industries? Explain any three aspects in this regard.
Explain any three characteristics of quaternary activities.

Study the map given below and answer the questions that follow:
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(16.1) Name the railway line shown in the given map.
(16.2)  Which are the terminal stations of this railway line?

(16.3) Name the ports located on the coast of Spencer Gulf through which this
railway line passes.

Note: The following question is for the Blind Candidates only, in lieu of Q. No. 16.

What are Trans-Continental Railways? Write four features of Trans-Siberian
Railway. 1+2=3

17.  Explain any three factors that determine the clustered or compact rural settlements
in India. 3x1=3

18. Study the diagram given below and answer the questions that follow: 1+2=3
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Note:

19.

20.

21.

22.

23.

Surface Water Withdrawals

Domestic
9%
Industrial
2%

Agriculture
89%

(18.1)  Why is the share of surface water very limited to the industrial sector in
India?

(18.2)  Which sector accounts for most of the suface water withdrawals and why?

Give one reason.
The following question is for the Blind Candidates only, in lieu of Q. No. 18.

Why is the demand of water for irrigation increasing day-by-day in India? Explain

any three reasons.

"Conservation of minerals is more important than other resources." Explain giving

three arguments.
Explain any three major problems associated with urban waste disposal in India.

Examine the five bases of international trade which are responsible for promoting

international trade.

What is settlement? Classify settlements of the world on the basis of their shape into
two categories. Mention any three characteristics of each.

How are physical and economic factors responsible for uneven distribution of popu-
lation in India? Explain with examples.
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24. Explain with examples any five geographical factors that affect localisation of an
industry at a particular place in India. 5x1 =5

25. How are Indian Railways contributing to the growth of national economy? Explain
with examples. 5x1=5

26. (26.1) Inthe given political outline map of the World the following
four features are shown : 4xV2=2
A. A major area of nomadic herding
B. A major sea port
C. A major air port
D. Amegacity

Identify these features and write their correct names on the line marked
against each feature.

(26.2) In.the given political outline map of India, locate and label
the following with appropriate symbols: 3x1=3

(i)  The state having highest percentage of urban population
@) The oil refinery located in Bihar

@ii) The southern-most major sea port of India
Note: The following question is for the Blind Candidates only, in lieu of Q. No. 26.
(26.1) Name the major sea port located along the western coast of South Africa.
(26.2) Name the mega city of South Korea.
(26.3)  Which state of India has the highest percentage of urban population?
(26.4) Name any one oil refinery located in Assam.

(26.5)  Which is the major sea port located in Andhra Pradesh? 5x1=5
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Marking Scheme — Geography

General Instructions :

1.

The Marking scheme provides general guidelines to reduce subjectivity in the marking.
The answers given in the Marking Scheme are suggestive answers. The content is thus
indicative .If a student has given any other answer which is different from the one
given in the Marking Scheme, but conveys the meaning, such answers should

be given due weightage.

Evaluation is to be done as per instruction provided in the Marking Scheme. Marking

Scheme should be strictly adhered to and religiously followed.

If a question has parts please award marks on the right hand side for each part. Marks
awarded for different parts of the question should then be totalled up and written on the

left hand margin and encircled.

If a question does not have parts, marks for it be awarded on the left hand side and

encircled.

If a candidate has attempted an extra question, answer of the question deserving more

marks should be retained and the other answer scored out.

The following textbooks can be referred to detailed answers. Page number of the

concerned book is given on the right side of the answer of each question.
Textbook I (TB-1) Fundamentals of Human Geography, published by NCERT.
Textbook II (TB-2) India: People and Economy, published by NCERT.

Due care should be given to the star (*) market questions. These involve Higher
Order of Thinking Skills (HOTS).

A full scale of Marks 0-100 has to be used. Please do not hesitate to award full
marks if the answer deserves it. Marks should not be deducted for bad

handwriting and spelling mistakes.
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10.

I1.

QUESTION PAPER CODE 64/1/1

EXPECTED ANSWERS/VALUE POINTS

Africa

United Arab Emirates (U AE)

Hunting and Gathering.

It is the smallest manufacturing unit. The craftsmen use local raw
materials and simple hand tools to produce everyday goods in
their homes With the help of their family members or part time

labourers.

St. Lawrence seaway serves the most important industrial region
of U.S.A and Canada

Human Settlement means cluster of dewelling of any type or size
where human beings live.

India Contributes 22(%) percent of rice production in the world
Kandla Port

Manufacturing/ Industrial Sector

Kanpur. Allahabad.

Concept of determinism:-

(1)  Inthe early stages humans were greatly influenced by nature.

TBI Pg Nol4.
TBI Pg No 18
TBI Pg No 30

TBI Pg No 49

TBI Pg No76.

TBII Pg 32.

TBII Pg 45
TBII Pg 129
TBII Pg 126

TBII Pg 136

@) They listened to nature, were afraid of its fury and worshipped it.

@) There is direct dependence of human beings on nature for resources which

sustain them.

@iv)  The physical environment for societies becomes the Mother Nature.

(v)  Societies were largely influenced by nature.

(vi)  Determinism considers humans passive agents. Nature
determines their attitudes, decisions and lifestyle.

(Any three points)

Ex:- Tribals of AbujhMadd area of central India.:
Any other relevant example.
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12.

13.

14.

Division of Population
(a) Rural
(b) Urban

(i)  Rural and urban life styles differ from each other in terms of their
livelihood and social conditions.

@)  Sex composition also differs.

@) Occupation structure is quite different.

@iv)  Density of population also varies.

(v)  Level of development varies between rural and urban areas.

(vi)  Any other relevant point.

(Any two points to be explained.) TBIPg-9

Dairy is the most advanced and efficient type of rearing of milch
animals. It is highly capital intensive. It provides milk, butter,
cheese, ghee etc.

@i It is practised mainly near urban and industrial centers. They provide
neighbourhood market for fresh milk and dairy products.

(i) Thereis a great demand of dairy products.

(i) The development' of refrigeration pasteurization and other preservation

1+2=3

process have also promoted dairy farming near the urban centers. TB I Pg-38-39 142 =3

14.1 - 1965-1975
14.2 -10393000-95000= 102,98,000 millions of US dollers
14.3

(i)  Regional difference in production and productivity.

(i) Economic development.

@) Difference in national resources

(Any one point) TB 1 Pg-84

For Blind students in lieu of Q.No 14.

(i)  International trade is the exchange of goods and services among two countries
across national boundaries.

(i)  Regional difference in production and productivity.

(i) Economic development.

@iv)  Difference in national resources TB I Pg-84
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15. (a) 'Big-Inch'Pipe Line
(b) Covinient mode of transportation

(i)  Pipelines are the most convenient mode of transporting liquids and gases

over long distances
(ii) They are energy efficient and environment friendly.
(iii) Liquefied coal can also be transported through pipelines.
(iv)  Uninterrupted supply.
(v)  No. interruption in other means of transport.
(vi) InNew Zealand milk is supplied through pipelines.
(vii) No pilferage during transit

(viii) Any other relevant point.
(Any two points) TB1Pg 77,78 1+2=3

16. (1)  Theseaports play an important role in international trade,
therefore they are called gateways of International trade.

(i) Cargoes and travellers pass from one port to another.

(i) They act as collection centers of commodities from their
hinterlands for further shipment to foreign destinations.

(iv)  They act as receiving centers of foreign consignment.

(v)  International trade on large scale is possible only through
ports

(Any three points) TB I Pg 88 3x1 =3
17. Factors that determine the rural settlements:-
(i)  Physical Factors: - Nature of terrain, altitude. climate and water.
(i) Cultural and Aesthetic Factors: - Caste, religion and social structure.

(i) Security Factors:- Defense against thefts robberies. and wild animals. TB II Pg33  3x1=3

18. 18.1 Agricultural Sector (2 Mark)

Reason:- Irrigation is needed to increase the agricultural productivity
(Any other relevant Point) (Y2 mark)
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19.

20.

18.2

(i)  Mostly people prefer to live in those areas where surface water is easily
available

@) Underground water is not available in most of the areas
@) Underground water in not always potable.
(iv)  Any other relevant point

(Any two points) (1+1 = 2 marks) TB 11 Pg.63

For Blind Students in lieu of Q.No 18

)

(1)
(iif)
(1v)
v)
(vi)

Increasing demand for agricultural products due to large increase in
population.

Productivity is higher in irrigated land.

Seasonal variation in rainfall.

Uncertainty of rainfall.

Regular moisture supply is needed for high yielding crops

Any other relevant point
(Any three points) T.B Il Pg-64

Main objectives of New Industrial Policy

@

(ii)
)
(iv)
v)

To build on the gains already made.

Correct the distortions or weaknesses that have crept in.

Maintain a sustained growth in productivity and gainful employment.
Attain international competitiveness.

Any other relevant point
(Any three objectives) T.B I1 Pg-96

Water Related Problems in India

@
(1)
(i)

Indiscriminate use of water by increasing population.
Industrial expansion has led to the degradation of the quality of water.
Per capita availability of water is decreasing due to increasing

population.
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21.

22.

(iv)

v)
(vi)

The available water resources are getting polluted with industrial agricultural
and domestic effluents.

Increasing demand of water in various sectors.
Any other relevant point

(Any three points) T.B II Pg-135

The major components of services.

(1)
(i)
(i)
(iv)
v)
(vi)
(vii)

Business Sector.

Finance

Wholesale and retail trading
Transportation and Communication.
Entertainment.

Government of different levels.

Non Government agencies.

(Any five component to be analysed) TBIPg 59

Rural settlements consist of villages in which most of the people

are engaged in primary activities i.e. agriculture, fishing, mining, forestry etc. They
are generally smaller in size.

Types:- (a) Compact or Nucleated Settlements.

(b) Dispersed Settlements

Differences:

()

(1)

(iif)

(iv)

In compact settlements the houses are closely spaced and streets are narrow,
on the other hand in dispersed settlements they consist of one or two dwelling
units. In compact settlements communities are closely knit together in common
bond by cultural features such as a church, a mosque or a temple.

Compact settlement are commonly seen in river valleys and fertile plains while
dispensed settlements are found over hills, plateaus and highlands

Plains of India, China, Thailand and Japan have compact settlements while
dispersed settlements are in Africa. Mauritania, hills of China and India.

Any other difference
(Any three relevant differences) TBIPg92
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23.

24.

25.

Occupational Structure of India:-

(@)
(i)

(i)

(iv)

v)

(vi)

(vii)

(vii)

There is a large proportion of dependent population

Most of the India's population is engaged in primary sector rather than
secondary and tertiary sectors.

About 58.2% of total working population is of cultivators and agricultural
labourers, whereas only 4.2% of workers are engaged in household industries
and 37.6% are other workers.

Male workers outnumber female workers in all the three sectors.

There has been some improvement in work participation of women in
secondary and tertiary sectors.

The proportion of workers in agriculture sector in India has shown a decline
over the last few decades.

The Participation rate in secondary and tertiary sector has registered an increase
Any other relevant point.

(Explanation of any five points with examples.) TB-II Pg-11

Problems related to Indian Agriculture:-

(@)
(i)
(i)
(iv)
v)
(vi)
(vii)
(vii)

(ix)

Dependence on erratic monsoon.

Constraints of financial resources and indebtedness.
Lack of land reforms.

Low productivity.

Small farm size and fragmentation of holdings.

Lack of commercialization.

Vast underemployment.

Degradation of cultivable land.

Any other relevant point

(Any five points with explanation.) TB-II Pg-56, 57, 58

Road Density:- Length of roads in per 100 Sq kms.

Determinants of road density
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26.

(i)  Nature of terrain
@) Level of economic development
Explanation of these two points with examples 2 markseach TB II Pg 117
26.1 See answer on the given map
26.2 See answer on the given map
For Blind Students :
26.1- Vancouver/ San Francisco
26.2- Rio de Janeiro
26.3- Arunachal Pradesh
26.4- Haldia

26.5- Marmagao
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QUESTION PAPER CODE 64/1
EXPECTED ANSWERS/VALUE POINTS

Density of more than 200 persons per sq.km:-
U.S.A (a) North Eastern part of U.S.A.

Europe (b) North Western part of Europe TB - 1 Page 9

Positive growth of population:-

When the birth rate is more than the death rate between two points of time or when
people from other countries migrate permanently to a region. is known as positive
growth of population.

TB -1 Page 11
Nomadic Herding-

Nomadic herding or pastoral nomadism is a primitive subsistence activity in which
the herders rely on animals for food. clothing. shelter, tools and transport

TB-1 Page 33
Busiest Sea Route:-
The Northern Atlantic Sea Route / Big Trunk Route
TB-1 Page 73
Paris to Istanbul/ (1) Paris (2) Istanbul
TBI. Page 71
Bangalore
TB2 Page 35
Two ferrous minerals other than iron ore are:
(1) Manganese
@) Chromite
TB2 Page 74
Ennore/ Tuticorin

TB2 Page 133

Pawan Hans / Helicopter service
TB2 Page 122
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10.

11.

12.

AirPollution
TB2 Page 137

A Geographer, Griffith Taylor introduced another concept which reflects a middle
path (Madhyam Marg) between the two ideas of environmental determinism and
possibilism. He termed it as Neodeterminism or stop and go determinism it means
that possibilities can be created within the limits which do not damage the environment
and there is no free run without accidents.

Example:-

Those of you who live in cites and those who have visited a city, might have been
that traffic is regulated by light on the cross- roads

1. Red light means 'stop'. amber light provides a gap between read & green
lights 'to get set' and green lights means 'go’.

2. The concept shows that neither is there is situation of absolute necessity
(environmental determinism) nor is the there a condition of absolute freedom
(possibilism)

3. Itmeans that human beings conquer nature by obeying it.

4.  They have to respond to the red signals and can proceed in their pursuits of
development when nature permits modifications.

TB 1 Page 4
Three economic factors influencing the population distribution in the world:-
(i) Minerals :-
(a)  Areas with mineral deposits attract industries.

(b) Mining and industrial activities generate employment. So, skilled and
semi- skilled workers move to these areas make them densely populated.
e.g. Katanga Zambia Copper belt in Africa

(i) URBANISATION:-

(a)  Cities offer better employment opportunities. Educational and medical
facilities, better means of transport and communications.

(b)  Good civic amenities and the attraction of city life draw people to the
cities. .

(c) Itleads to rural urban migration and cities grow in size. Mega cities of
the world continue to attract large number of migrants every year.
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13.

14.

(iii) INDUSTRIALISATION :-

(a) Industrial belts provide job opportunities and attract large number of
people.

(b) This includes not just factory workers but also transport operators,
shop keepers. Bank employees. doctors, teachers and other services
providers.

(c) The Kobe - Osaka region of Japan is thickly populated because of the
presence of a number of industries.

(Explanction of each factor with example)

TB I Page 10

Subsistence agriculture is one in which the farming areas consume all , or nearly so,

of the products locally grown.

Four characteristics of Primitive Subsistence agriculture arc:

a)

b)

g

Primitive Subsistence agriculture or Shifting cultivation is widely practiced by
many tribes in the tropics, specially in Africa, South and Central America and
South East Asia.

The cultivated patches are very small and cultivation is done with very primitive
tools, such as sticks and hoes.

After some times ( 3 to 5 years) the soil loses it fertility and the farmer shifts to
another part and clears an other patch of the forest for cultivation.

The farmer may return to the earlier patch after some time.

One of the major feature of this cultivation is that the cycle of Jhum becomes
less and less due to loss of fertility in different parcels.

Itis prevalent in tropical region in different names,- e.g. Jhuming in north -
eastern states of India, Milpa in central America and Mexico and Ladang in
Indonesia and Malayesia.

Any other relevant point
(Any four points, ¥2 mark each)

TB.1 Page 34 & 36

TECHNOLOGICAL INNOVATIONS :-

(a)

Technological innovations through research and development strategy are an
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15.

16.

(b)

(c)
(d
(e)
®

important aspect of modem manufactring for quality control, eliminating waste
and inefficiency and combating pollution.

A complex machine technology.

Extreme specialization and division of labour for producing more goods with
less efforts and low costs.

Vast capital

Large organization
Executive bureaucracy.
Any other relevant point.

(Any three points to be explamned) TB 1 Page 46

Three characteristics of quaternary activities are:-

()

(ii)

(i)

(1v)
v)
(vi)

Quaternary activities involve some of the following: the collection, production
and dissemination of information or even the production of information.

Quaternary activities centre around research, development and may be seen
as an advance form of services involving specialized knowledge, technical
skills and administrative competence.

New trends in quaternary services include KPO (knowledge processing
outsourcing) and 'home shoring'

KPO involves more high skilled workers.
Itis information driven knowledge outsourcing.

KPO enables companies to create additional business opportunities. Examples
of research and development, e- learning, business research intellectual
property (IP) research, legal profession and the banking sector

(vii)  Any other relevant point

(Any three points) TB Page 61 & 62

Map Based Question

(16.1) Australian Trans- continental Railway

(16.2) (i) Perth(ii) Sydney

(16.3) (i) Port August (ii) Port Pirie

TB I Page 72
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16.

17.

18

Note :- For Blinds candidates:

Trans- contirrental-railway run across the continent and link its two ends. They
were constructed for economic and political reasons to facilitate long runs in different
directions.

Four features of Trans -Siberian Railway :-
(i)  Itis major rail route of Russia.

(i) Itrunsfrom St. Petersburg in-the west to Vladivostok on the Pacific coast in
the east.

(i) ItPasses through Moscow, Ufa, Novasibirsk, Irkutsk, Chita, and Khabarovsk

@iv) Itis the most important route in Asia and the largest (9,332km) double tracked
and electrified Transcontinental Railway in the world.

(v)  Ithashelped in opening up its Asian region with west European markets.

(vi)  Itruns across the Ural Mountains, Ob and Yenisei rivers. Chita is an important
agro center and Irkutsk fur center.

(vii) These are connecting links to the south namely to Odessa, (Ukraine~ Baku
an the Caspian coast, Tashkent (Uzbekistan), Ulan Bator (Mangolia), And
Shenyang (Mukden) and Beijing in China.

(viii) Any other point
(Any four points) TB 1. Page-70
Factors for Clustered or compact rural settlement-
(a) Fertile Plains
(b)  Security or defence.
(¢)  Scarcity of water
(d) Awvailability of resources.
(e)  Any otherrelevant point.

(Explamation of any three points) TB-2 Page 33

Diagram based question:-

(18.1) The share of surface water is very limited to the industrial sector (2%) in
India because India has traditionally been an agrarian economy and about
two-third of its population have been dependent on agriculture. (1)
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19.

(18.2) Agriculture sector accounts for most of the surface water (89%) withdrawals.

(D
Reasons:-
(i)  Indiaisan agricultural country
@) Its 2/3 population directly depends on agriculture
@)  Agriculture requires large quantity of water for irrigation.
(iv)  Any other relevant point. (D
TB2. Page 63

Note:- Blind candidates:-

)

(1)

(1)

(iv)

\))

(vi)
(vii)

Irrigation is needed because of spatio-temporal variability in rain fall in the
country.

The large tracts of the country are deficient in rainfall and are droughts prone
like north western India and Deccan plateau areas.

Winter and summer seasons are more or less dry in the most part of the
country. It is difficult to practice agriculture without assured irrigation during
dry seasons.

The areas of ample rainfall like West Bengal and Bihar breaks in monsoon or
its failure creates dry spells detrimental for agriculture.

Water requirement for rice. sugarcane. jute etc. is very high which can be met
only through irrigation.

Increasing demand of agricultural products due to large population.

The productivity is high on irrigated land

(viii) Any other relevant point

(Any three points to be assessed) TB 2 page 64

Conservation of Minerals

)

(1)
(1)
(iv)

Traditional methods of mining generate large quantity of wastes.
Traditional methods of mining also create environment problems.
Economic/Industrial development depends on minerals

Sustainable development calls for the consenation of resources for future
generation.
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20.

21.

V)

(vi)

Minerals are exhaustible resources.
Any other relevant point.

(Any three points) TB 2 Page 83

Major problems associated with urban waste disposal in India:-

(a)

(b)

(©

(d)

©)

®

@

(h)

Solid wastes because health hazard through creation of obnoxious smell and
harboring of flies and rodents which act as carries of diseases like typhoid,
diphtheria, diarrhea, malaria, cholera etc.

This waste cause frequent nuisance as and when these are carelessly handed
and spread by wind and splattered through rain water.

The dumping of industrial waste into rivers leads to water pollution. River
pollution from city-based industries and untreated sewage leads to serious
health problems downstream.

Enormous growth in quantity of waste generates from various sources like
small pieces of metals, broken glass, plastic containers, polythene bags etc.

In metropolitan cities like Mumbai Kolkata, Chennai, Bangalore. etc. about -
90 present of the solid waste collected and disposed untreated.

30 to 50 percent of the waste generated are left uncollected which accumulate
on streets, in open spaces between houses and in wastelands leading to serious
health hazards.

Untreated wastes ferment slowly and release toxic biogas to the atmosphere
including methane.

Any other relevant point.

(Any three points) TB 2 page 139-149

Bases of International Trade:-

(a)
(b)
(©
(d)
©)

Difference in national resources.
Population factor.

Stage of Economic development.
Extent of foreign investment.
Transport.

(These five bases are to be examined)

TB I page 83
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22.

23.

A settlement is a place inhabited more or less permanently.
The major types classified by shape:-

(i)  Compact or nucleated settlements.

(i)  Dispersed settlements

CHARACTERISTICS:-

COMPACT SETTLEMENTS:-

(i)  Large number of houses is built very close to each other.

(i)  Such settlements develop along river valleys and fertile plains.
@) Communities are closely knit and share common occupations.
DISPERSED SETTLEMENTS: -

(i)  Houses are spaced a apart

(i) They are often interspersed with fields.

(i) A cultural feature such as a place of worship or a market binds the settlement
together.

TB I Page 91-92

Factors of uneven distribution of population
PHYSICALFACTORS:-

(i)  Terrain
Example:- Hill Region ( Low Population), Plains ( High Population)

@) Climate
Example:- o High altitude region- Extreme Climate (Low Population)
° Coastal and Plain region- Equable climate (High Population)
(i)  Availability of water
Example:- e Availability of water- Rajasthan (Low Population)
° Along the Ganga basin (High Population)
(iv)  Availability of minerals or energy resources

Example:- e Chotanagpur Plateau. ( High Population)
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24.

ECONOMICFACTORS:-

(1)

2)
3)
“4)

o)

(6)

Development of agriculture

Example:- Indo Gangetic Plain (High Population)

Development of irrigation (Punjab Haryana. West U.P.)

Development of transport network (Nothern Plain)

Industrialization

Example:-Bombay- Pune- Ahmedabad Region, Chennai-Bangalore
Coimbatore Region.

Urbanization:-

Example:- Metropolitans & other major cities =

Mumbeai . Kalkata. Delhi and NCR.

Any other relevant point.
TB 2 Page 3

Factors that affect localization of an industry at a particular place in India

arc:-

(@)

(b)

(©)

Location :-

There is strange relationship between raw material and type of industry. Itis
economical to locate the manufacturing industries at a place where cost of
production goods to consumers are the least. Transport costs to a great extent

depend on the nature of raw material and manufactured products.
RAW MATERIALS:-

Industries using weight- losing raw materials are located in the regions where
raw materials are located. For example sugar mills in India are located in
sugar cane growing areas. The location of pulp industry. copper smelting and

pig iron industries are also located near their raw materials.
POWER :-

Power provides the motive force for machines. Its supply has to be ensured
before the location of any industry.
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25.

d

(e)

®

EX.. aluminum and synthetic nitrogen manufacturing industries tend to be located
near sources of power because they are power intensive and require huge
quantum of electricity.

MARKET :-

Markets provide the outlets for manufactured products. Heavy machine tools.
heavy chemicals are located near the high areas of demand, as these are
market oriented.

Ex. Cotton textile industry uses a non weight -losing raw material and is generally
located in large urban centre.

Ex. Mumbai, Ahmedabad etc.
TRANSPORT: -

Industries shifted to interior location only when railway lines were laid. All
major industrial plants are located on the trunk Rail routes for examples Mumbai
Chennai, Delhi & Kolcata are connected through transport links.

LABOUR:-

In India, labour is quite mobile and is available in large numbers due to our
large population. Cheap skilled labour is available e.g. Ahmedabad for Cotton
Textile Industry

Any other relevant Point.

(Any five factors to be explained) T.B.2 Page 86

Contribution of Indian Railways in the growth of national economy by
following ways:

(D

2

3)
“)

o)
(6)

It facilitates the movement of both freight and passengers and contributes to
the growth of economy.

Development of Konkan Railway along the western coast providing a direct
link between Mumbai and Mangalore.

Railway continues to remain the main means of transport for the masses.

Railway connect areas around towns, raw material producing areas and of
plantations and other commercial crops,

Hill stations and cantonment towns are well connected by railways.

These were mostly developed for the exploitation of resources after
independence.
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(7) Indian Railways is the largest government undertaking in the country. Its very
large size solves unemployment problems.

(8)  Any other relevant point.

TB 2 Page 118-119 5x1=5

26. Map work

26.1 See answer on the given map 4xYr =2

26.2 See answer on the given map 3x1 =3
26. For Blind Candidates in lieu of Q.no. 26

(i)  Capetown

@)  Seoul

@) Goa

@iv) Digboi, Guwahati, Bongaigaon (Any one)

(v)  Vishakapattanam 5x1=5
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PSYCHOLOGY (Theory)

Time allowed : 3 hours Maximum Marks : 70

-~

GENERAL INSTRUCTIONS : \

(i) All questions are compulsory.
(ii) Answer should be brief and to the point.
(iii) Marks for each question are indicated against it.

(iv) Question Nos. I to 10 in Part-A are Learning Checks type questions carrying 1

mark each. You are required to answer them as directed

(v) Question Nos. 11 to 16 in Part-B are very short answer type questions carrying

2 marks each. Answer to each question should not exceed 30 words.

(vi) Question Nos. 17 to 20 in Part-C are short answer type-I questions carrying 3

marks each. Answer to each question should not exceed 60 words.

(vii) Question Nos. 21 to 26 in Part-D are short answer type-II questions carrying 4

marks each. Answer to each question should not exceed 100 words.

(viii) Question Nos. 27 to 28 in Part-E are long answer type questions carrying 6

k marks each. Answer to each question should not exceed 200 words.

/

QUESTION PAPER CODE 63/1

Part-A 1 Mark each
1. Individuals having high motivation, lack of patience and who are always in a hurry
are characterised as Type ........cccceevueennnne. personality.
2. Working together to achieve shared goals is called

(a) Cooperation

(b) Compliance

278



10.

(¢) Conformity

(d) Obedience

Using past experiences creatively to solve novel problems is known as. ................

intelligence.

........................... is the study of the relationship between living beings and their

environment.

An individual reporting loss of part or some bodily functions is showing signs of
(a) Dissociative disorder

(b) Panic disorder

(c) Mood disorder

(d) Conversion disorder
The technique used for treating phobias or irrational fears is ...........ccccecevereencne.

Pro-social behaviour is more likely to be shown by individuals who are emphathetic.

True/False

Body language is composed of all messages that people exchange besides words.

True/False

................................... 1s the term used to describe stress level that helps in

achieving peak performance.

Dismissing anxiety provoking behaviours or thoughts from the unconscious is known

as

(a) Projection

(b) Rationalization
(c) Repression

(d) Denial
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I1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

Part-B (2 Mark each)

What do you understand by social identity?
Explain the term burnout.

What is meant by well-being?

Explain positive reinforcement.

What is crowding tolerance?

Explain intrapersonal communication.

Part-C (3 Mark each)

What is bipolar mood disorder?
OR

What s obsessive-compulsive disorder? Explain.
State any three sources of prejudice.
Discriminate between instrumental and hostile aggression.

What is encoding in human communication?

Part-D (4 Mark each)

Differentiate between psychometric and information processing approaches to

intelligence.

State the Gardner’s eight types of intelligences. Describe any ONE with the help

of examples.
Explain General Adaption Syndrome (GAS).

Distinguish between obsessions and compulsions.
OR

Explain the concept of stress giving examples from daily life.
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25.

26.

27.

28.

Explain ‘negative reinforcement” and ‘aversive conditioning’ techniques of behaviour
modification.

Discuss the concept of impression formation with the help of examples.

Part-E (6 Mark each)

What do people conform? Explain how is conformity difficult from compliance.

OR
Whatis a group? Explain giving examples the stage of group formation.
What is meant by delay of gratification? Discuss the techniques used for self-
control.

OR
What do you understand by personality? Explain assessment of personality using
behavioural analysis.

QUESTION PAPER CODE 63

Part-A 1 Mark each

Using past experiences creatively to solve novel problems is known as ...............

intelligence.

Individuals having high motivation, lack of patience and who are always in a hurry

are characterised as type .........cccceeveeeene personality.

Dismissing anxiety provoking behaviours or thoughts from the unconscious is known
as

(a) Projection

(b) Rationalisation

(c) Repression

(d) Denial

........................... is the term used to describe stress level that helps in achieving
peak performance.
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10.

I1.

12.

13.

14.

15.

16.

An individual reporting loss of part or some bodily functions is showing signs of
(a) Dissociative disorder

(b) Panic disorder

(c) Mood disorder

(d) Conversion disorder
The technique used for treating phobias or irrational fears is .........cc.ceceevveruenene.

Pro-social behaviour is more likely to be shown by individuals who are emphathetic.
True/False

Working together to achieve shared goals is called

(a) Cooperation

(b) Compliance

(¢) Conformity

(d) Obedience

............................. is the study of the relationships between living beings and their

environment.

Body language is composed of all those messages that people exchange besides

words. (True/False)

Part-B (2 Mark each)

What is meant by personal identity?
Explain the term coping.

What is post traumatic stress disorder?
Explain vicarious learning.

What is personal space?

Explain intrapersonal communication.
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17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

Part-C (3 Mark each)

What is somatoform disorders?
OR

What is bipolar mood disorder?

State any three factors that influence attitude change.

Suggest any three strategies for reducing aggression and violence.
Explain paraphrasing in human communication.

Part-D (4 Mark each)

Explain any two methods used for psychological assessment.
Give the meaning of aptitude. How is it measured?

Differentiate between problem-focused and emotion-focused coping strategies
with the help of examples.

How does diathesis stress model explain abnormal behaviour?
How is Rational Emotive Therapy (RET) used in treating psychological disorders?
State the factors that influence attitude formation.

OR

Explain the concept of impression formation with the help of examples.

Part-E (6 Mark each)

What is a group? Explain giving examples the stages of group formation.
OR

Why do people conform? Explain how conformity is different from compliance.

Define personality. Explain assessment of personality using behavioural analysis.
OR

What do you understand by delay of gratification? Discuss the techniques used for
self-control.
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Marking Scheme - Psychology

4 N

General Instructions :

1. The Marking Scheme is a guideline. Any relevant and appropriate information other than
that given in the Marking Scheme may be marked correct. Students using their own language
for explaining concepts, be given due weightage.

2. Marks are not normally deducted for spelling errors but if the answer obliterates the right
concept, marks may be deducted accordingly

3. If astudent has attempted both Parts (question as well as its choice question) the part
securing the higher marks, is to be considered.

4.  Marks are not to be deducted if answers are not written according to the sequence given
in the question paper.

5. Marks are not to be deducted for exceeding the word limit

QUESTION PAPER CODE 63/1
EXPECTED ANSWERS/VALUE POINTS

PART - A
I. Type A Page 31 1
2. a (cooperation) Page 144 1
3. Experiential Page 8 1
4. Ecology Page 154 1
5. d (conversion disorder) Page 78 1
6. systematic desensitisation Page 98 1
7. True Page 125 1
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10.

11.

12.

13.

True Page 186

Eustress Page 52

¢ (Repression) Page 35
PARTB

(a) Social Identity —refers to those aspects of a person thatlink ~ Page 25

her/him to a social or cultural group or are derived from it.
(b) Anexample—Heis a Hindu or a Muslim

(c) Descriptions characterise the way people mentally represent

themselves as persons.

(any two points)

Burnout Page 59

Prolonged/chronic stress affects physical health and impairs psycho-
logical functions

OR

The state of physical, emotional and psychological exhaustion is

known as burnout.
Physical effects — chronic fatigue, weakness, low energy.

Mental effects —irritability, anxiety, feelings of helplessness etc.

Well being Page 71, 63
(a) notsimply maintenance and survival
(b) includes growth and fulfilment
(c) actualization of potential
OR
(a) for wellbeing, people have constructive attitude
(b) alsohave alot of emotional and social support

(c) People learn to survive healthily by managing stress and

pressures. (any two)
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14.

15.

16.

17.

Positive reinforcement — One of the behavioural techniques used ~ Page 98
to bring about modification of behaviour. It is applied when adaptive

behaviour occurs rarely.

Any suitable example — mother prepares favourite dish when the

child completes his/her homework. (example must be given)

Crowding Tolerance —refers to the ability to deal with a high page 160
population density or crowded environment.

Any example showing positive or negative crowding tolerance.

Intrapersonal communication — It involves communicating with Page 183

oneself. It encompasses such activities as thought process, personal
decision making and focussing on self.

PARTC

Bipolar Mood Disorder Page 77
(a) people suffer from Mania
(b) people usually have Depression.

such a mood disorder in which both mania and depression are
alternatively present and sometimes interrupted by periods of normal
mood is known as bipolar mood disorder

(or justified with suitable symptoms of Mania and Depression)
OR
Obsessive Compulsive Disorder

Obsession refers to the inability to stop thinking about a particular

idea or topic, often these thoughts are unpleasant and shameful.

Compulsion refers to the need to perform certain behaviours over

and over again such as ordering, checking, touching etc.

Therefore obsessive compulsive disorder is inability to control thinking
repeatedly about a particular idea and to stop performing certain

behaviours over and over again.

(preferable, if supported with an example)
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18.

19.

20.

21.

Sources of Prejudice Page 118-119

(a) Leaming

(b) A strong social identity and in-group bias
(c) Scapegoating

(d) Kernel of truth concept

(e) Selffulfilling prophecy

(Any 3 with brief explanation)

Distinction between Instrumental and Hostile Aggression

Instrumental aggression is the act of aggression meant to achieve a
certain goal or an object.

e.g.—abully slaps a new student in school so that she can snatch the
newcomer's chocolate.

Hostile aggression is an expression of anger towards the target, with
the intention of harming her/him, even if the aggressor does not wish
to obtain anything from the victim.

e.g.—Acriminal may beat up a person in the community for mentioning
his name to the police.
Encoding

When we communicate, we encode (i.e. take ideas, give them meaning
and put them into message forms) and send the idea through a channel.
It is composed of our primary signal system based on our senses
(1.e. seeing, hearing, tasting, smelling and touching).

PARTD

Page 169

Page 183

Differences between Psychometric and information processing Page, 5,6

approaches to intelligence:
Psychometric approach to intelligence/structural approach

e considersintelligence as an aggregate of abilities (describes what
intelligence is)

e  expresses the individual's performance in terms of a single index
of cognitive abilities
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22.

23.

24.

e anyoneexample
Information processing approach to intelligence

e the process people use in intellectual reasoning and problem
solving (how intelligently a person acts)

e thefocusison studying cognitive functions underlying intelligent
behaviour

e  Triarchic theory/PASS model

Theory of Multiple Intelligence Page 7
e  Linguisticintelligence

e  Logical, Mathematical

e  Spatial

e  Musical

¢  Bodily Kinaesthetic

e  Interpersonal

e  Intrapersonal

e  Naturalistic

Explanation of any one type of intelligence (above stated) with suitable

examples.

General Adaptation Syndrome (GAS) Page 59
Given by Hans Selye

Three stages of GAS model

e  Alarmreaction

e  Resistance

e  Exhaustion

Explanation of above three with diagram

Obsession refers to the inability to stop thinking about a particular Page 77

idea or topic, often these thoughts are unpleasant and shameful.
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25.

26.

Compulsion refers to the need to perform certain behaviours over
and over again such as ordering, checking, touching and washing.
OR

Concept of stress Page 51, 52
53,54

e  The pattern of responses an organism makes to stimulus/event
that disturbs the equilibrium and exceeds a person's ability to
cope.

e  Origin of the word 'strictus/stringere and its explanation

Eustress and distress must be mentioned. (Reference to stress/strain,
primary and secondary appraisal)

e  Atleasttwo examples from daily life
Negative Reinforcement — refers to following an undesired res- Page 97, 98
ponse with an outcome that is painful or not liked

e.g.—Astudent who shouts in the class is denied to take any eatables
from school canteen.

Aversive Conditioning — refers to repeated association of undesired
response with an aversive consequence.

e  Analcoholicis given a mild electric shock and asked to smell
the alcohol. With repeated pairings the smell of alcohol becomes
aversive as the pain of the shock is associated with it and the
person will give up alcohol.

Impression forming is the first part in the process of coming to Page 120,
know another person. 121

OR

Every social interaction begins with the formation of an impression
about the person(s), we meet.

Process of impression formation involves
(a) selection

(b) organisation
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27.

(c) inference

Qualities that influence impression formation
1) primary effect

2) recency effect and

3) haloeffect

e  suitable examples

PARTE
Conformity means behaving according to the group norms i.e. Pages 139- 3+3
according to the expectations of other group members. 143

Reasons for conformity

e  People conform because they get information about the group
so that they come to know what is expected of them in a specific
situation in that group.

e  For obtaining approval of other members of the group since

disapproval is perceived as a form of social punishment.

e  They believe that the majority view is more liklely to be right
than wrong.

OR

The above can be explained with the help of (a) informational influence

(b) normative influence
Differences between compliance and conformity

e  Compliance refers to simply behaving in response to a request
from another person or a group even in the absence of a norm
whereas in conformity, presence of norms is a must which are

followed by group members.

e Incompliance there is an element of request which is not in

conformity.

e Incompliance one may refuse to comply with the request where

as itis not so in conformity.
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Conformity can be explained with the help of informational
influence and normative influence while compliance can be

explained with the help of techniquesi.e.
(a) footin the door technique

(b) deadline technique

(c) doorin the face technicue

(any three points)
OR

Definition of group — A group may be defined as an organised

system of two or more individuals, who are interacting and are inter-

dependent, have common motives, have a set of role relationships

among its members and have norms that regulate the behaviour of its

members.

OR

Characteristics

A social unit consisting of two or more individuals who perceive

themselves as belonging to the group

A collection of individuals who have common motives and goals
A collection of individuals who are interdependent

A gathering of individuals who interact with each other
Individuals who are trying to satisfy a need

Whose interactions are structured by a set of rules and norms

Stages of formation of group are

Forming stage (formation)
Storming stage (conflict)
Norming stage (stabilisation)
Performing stage (performance)

Adjourning stage (dismissal)

Explanation of each stage with suitable examples required
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28.

There are certain needs which cannot be fulfilled instantly and we Page 27
often decide to delay or defer the satisfaction of certain needs. This

is called delay of gratification.

Learning to delay or defer the gratification of needs is called self

control.
Techniques for self control
e  observation of one's own behaviour
e selfinstruction
e selfreinforcement
Explanation of each required
OR

Personality refers to our characteristic ways of responding to Page 28, 29,
individuals and situations. 46, 47

or any other appropriate definition or features of personality
Assessment of Personality

Using behavioural analysis

Observation of behaviour serves as the basis of behavioural analysis.
Tools

e  Interview — structured — unstructured

e  Observation

e  Ratings

e  Nominations

e  Situational tests

(Brief explanation of any four required)
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10.

11.

12.

13.

QUESTION PAPER CODE 63
EXPECTED ANSWERS/VALUE POINTS

PART -A

Experiential
Type A
Repression (c)
Eustress
Conversion disorder (d)
systematic desensitisation
True
Cooperation (a)
Ecology
True
PARTB

(a) Personal Identity —refers to those attributes of a person that
make her/him different from others
e.g. when a person describes himself by telling his name or his
characteristics
Coping is a dynamic situation — specific reaction to stress.
OR
Itis a set of concrete responses to stressful situation or events that

are intended to resolve the problem and reduce stress.

When people go through experiences of a natural disaster or have
been in serious accidents or in a war related situation or a terrorist

attack, they may develop post traumatic stress disorder.
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14.

15.

16.

17.

Symptoms include — recurrent dreams, flashbacks, impaired
concentration and emotional numbing.

Behavioural therapy technique - Modelling — vicarious learning

i.e. modelling is the procedure wherein the client learns to behave in
a certain way by observing the behaviour of a role model. Vicarious
learning i.e. learning by observing others, is used and through a process
of rewarding small changes in the behaviour, the client gradually learns
to acquire the behaviour of the model.

It is comfortable physical space one generally likes to maintain
around oneself. It is affected by high density environment. It can also
happen because of negative reaction to crowding.

Interpersonal communication — It involves communication that
takes place between two or more persons who establish a com-
municative relationship.

Forms include - face to face or mediative conversations, interviews

and small group discussions

PARTC

Somatoform Disorders - The individual has psychological ditfi-
culties and complaints of physical symptoms for which there is no

biological cause.
The disorders include
(a) paindisorders
(b) somatisation disorders
(c) conversion disorders
(d) Hypochondriasis

(brief explanation)

OR

Bipolar Mood Disorder

(a) people suffer from Mania
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18.

(b) people usually have Depression

such a mood disorder in which both mania and depression are
alternatively present and sometimes interrupted by periods of normal

mood is known as bipolar mood disorder

(justified with suitable symptoms of Mania and Depression)

Major factors that influence attitude change are: Page 114-117
(a) The characteristics of attitude like:
1) valence (positivity or negativity)
2) extremeness
3) simplicity or complexity (multiplexity)
4) centrality
determine the attitude change.
(b) Source characteristics
1) Credibility
2) Attractiveness
(c) Message characteristics
1) Rational
2) Emotional appeal
3) Motive of message
4) Mode of spreading message
(d) Targetcharacteristics
1) Persuasibility
2) Strong prejudices
3) Self esteem
4) Intelligence

(Brief explanation of any three major points)
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19.

20.

21.

22.

Strategies for reducing aggression and violent Page 171, 172

1) Carefulness of parents and teachers - not to encourage or
reward aggression
2) No Opportunities to observe and imitate the behaviour of
aggressive models
3) Implementation of social justice and equality in society —
eradication of poverty and social injustice
4) Toinculcate a positive attitude towards peace in the community
—non-violent approach
(Brief explanation of any three)
Paraphrasing in human communications Page 185

It is a form of feedback to know whether someone has listened to

and understood the speaker or not.

The matter spoken by speaker is summarised by the listener and

restated and he need not repeat the exact words. He provides a

restatement of what he understands. This is called paraphrasing.

It allows one to understand how much She/he understood of what

was communicated. If someone cannot repeat or write down a

summary of what was said, then She/he probably did not get the

whole message or did not understand it.

PARTD
Following are the methods used for psychological assessment Page, 4
1)  Psychological test
2) Interview
3) Case study
4)  Observation
5) Selfreport

(Explanation of any two)

Aptitude —refers to special ability in a particular field of activity. ~ Page 17, 18

It is a combination of characteristics that indicates an individual's
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23.

capacity to acquire some specific knowledge or skill after
training.

The knowledge of aptitude can help us to predict an individual's
future performance.

Measurement of aptitude — Aptitude is measured by using different
aptitude tests. There are two forms of aptitude tests —

1) Testindependent (Specialised Aptitude Tests)
a) Clerical aptitude
b) Mechanical aptitude
¢) Numerical aptitude
d) Typing aptitude

2)  Multiple (Generalised Aptitude Test) — These tests are in the
form of test batteries, which measure aptitude in several
separate but homogenous areas.

a) Differential Aptitude Test (DAT)
b) General Aptitude Test Battery (GATB)

(c) Armed Services Vocational Aptitude Battery (ASVAB)

Problem focused strategy Page 62
(a) Attack the problem itself

(b) Withbehaviours designated to gain information

(¢) To alter the event and to alter belief and commitments

(d) They increase the person's awareness, level of knowledge and
range of behavioural and cognitive coping options. They can
act to reduce the threat value of the event.

Emotion focusses strategy
(a) Callfor psychological changes

(b) Designated to limit the degree of emotional disruption caused

by an event
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25.

(c) With minimal effort to alter the event itself

While both problem focussed and emotion focussed strategies are
necessary when facing stressful situations, research suggests that

people generally tend to use the former more often than the latter.
The Diathesis Stress Model provides the most widely accepted
explanation of abnormal behaviour.

Psychological disorders develop when a diathesis (biological

predisposition to the disorder) is set off by a stressful situation.
Components
(a) presence of some biological aberration which may be inherited

(b) thediathesis may carry a vulnerability to develop a psychological
disorder. Person is at risk/predisposed to develop a disorder.

(c) presence of pathogenic stressor.

Rational Emotive Therapy (RET) by Albert Ellis

Cognitive therapies locate the cause of psychological distress in
irrational thoughts and beliefs.

The central thesis of RET is that irrational beliefs mediate between
the antecedent events and their consequences.

Steps in RET
1)  Antecedent Belief — Consequences (ABC) analysis

2) Clientis also interviewed to find the irrational beliefs which are

distorting the present reality.

3) These beliefs are characterised bythoughts with 'must' and
'should', i.e. things must and should be in a particular manner.

4) The distorted perception of the antecedent event due to the
irrational belief leads to the consequence i.e. negative emotions
and behaviour.

5) Irrational beliefs are assessed through questionnaires and
interviews
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27.

6) Inthe process of RET, the irrational beliefs are refuted by the
therapist through a process of non-directive questioning

7)  Gradually the client is able to change the irrational beliefs. The
rational belief system replaces the irrational belief system and
there is a reduction in psychological distress.

Factors that influence attitude formation Page 111
(a) Family and school environment

(b) Reference group

(c) Personal experiences

(d) Mediarelated influences

(explanation of each one)

OR
Impression forming is the first part in the process of coming to know
another person
or

Every social interaction begins with the formation of an impression ~ Page 120,
about the person(s), we meet 121

Process of impression formation involves
(a) selection

(b) Organisation

(c) inference

Qualities that influence impression formation
1) primary effect

2) recency effect and

3) haloeffect

e  suitable examples
PARTE

Definition of group — A group may be defined as an organised =~ Pages 130-
system of two or more individuals, who are interacting and inter- 131, 133
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dependent, have common motives, have a set of role relationship
among its members and have norms that regulate the behaviour of its
members.

OR

Characteristics

e  Asocial unit consisting of two or more individuals who perceive

themselves as belonging to the group
e  Acollection of individuals who have common motives and goals
e  Acollection of individuals who are interdependent
e A gathering of individuals who interact with each other
e Individuals who are trying to satisfy aneed
e  Whose interactions are structured by a set of rules and norms

Stages of formation of group are
Forming stage (formation)
Storming stage (conflict)
Norming stage (stabilisation)
Performing stage (performance)
Adjourning stage (dismissal)

Explanation of each stage with suitable examples required

OR
Conformity means behaving according to the group normsi.e. Pages 139-
according to the expectations of other group members. 142

Reasons for conformity

e  People conform because they get information about the group
so that they come to know what is expected of them in a specific

situation in that group.

e  For obtaining approval of other members of the group since

disapproval is perceived as a form of social punishment.
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e  They believe that the majority view is more liklely to be right
than wrong.
OR

The above can be explained with the help of (a) informational influence

(b) normative influence
Differences between compliance and conformity

e  Compliance refers to simply behaving in response to a request
from another person or a group, even in the absence of a norm
whereas in conformity presence of norms is a must, which are

followed by group members.

e Incompliance there is an element of request which is not in

conformity.

e Incompliance one may refuse to comply with the request where

as itis not so in conformity.

e  Conformity can be explained with the help of informational
influence and normative influence while compliance can be

explained with the help of techniques i.e.

(a) footinthe door technique

(b) deadline technique

(¢) door in the face technique

(any three points)
Personality refers to our characteristic ways of responding to Page 46, 47 2+4
individuals and situations.
or any other appropriate definition or features of personality
Assessment of Personality
Using behavioural analysis
Observation of behaviour serves as the basis of behavioural analysis.

Tools
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e Interview —structured — unstructured

e  Observation

e Rating

e  Nomination

e  Situational tests

(Brief explanation of any four required)
OR

There are certain needs which cannot be fulfilled instantly and we
often decide to delay or defer the satisfaction of certain needs. This

is called delay of gratification.

Learning to delay or defer the gratification of needs is called self

control.

Techniques for self control

e  observation of own behaviour
e selfinstruction

e selfreinforcement

Explanation of each required
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SOCIOLOGY

Time allowed : 3 hours Maximum Marks : 80

s N
GENERAL INSTRUCTIONS :

(i) There are 25 questions in all.
(ii) All questions are compulsory.

(iii) Question Nos. 1-14 are of 2 marks each, and are to be answered in about 30
words.

(iv) Question Nos. 15-21 are of 4 marks each, to be answered in about 80 words.
(v) Question Nos. 2224 are of 6 marks each, to be answered in about 200 words.

(vi) Question No. 25 carries 6 marks and is to be answered based on the passage
given.

(vii) Answers should be precise and to the point.

QUESTION PAPER CODE 62/1

1. Write a note on purity and pollution. 2
2. What is participatory democracy? 2
3. What features mark or characterize a social movement? 2
4. Define ‘State’. 2
5. What steps were taken by colonial rulers for the smooth functioning of its rule? 2
6. What sectors or spheres are important in a modern economy? 2
7. What is meant by support prices? 2
8. What is meant by assimilationist policies? 2
9. How did British industrialization lead to deindustrialization in some sectors in

India 2
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

What are the ways by which workers are made to produce more?
Highlight the potential of FM channels in a post liberalized India.
What does the principle of nationalism assume?

Identify two negative social effects of Green Revolution.

Highlight any two features of an organized sector.

In what ways can changes in the social structure lead to changes in the family
structure.

Discuss what is an Ecological Movement by giving suitable examples.

OR

Write a short note on AITUC.

What arguments were given by Dr. Ambedkar and by Mahatma Gandhi for
constituting local governments?

OR

73rd amendment has had a monumental role in bringing a voice to the people in
villages. Comment.

In what ways did the Indian economy change after the coming of colonialism?

The beginning of the printing press led to the growth of the idea of a ‘Nation’ as
an ‘imagined community’. Discuss as suggested by Benedict Anderson.

What changes took place in the areas where agriculture became more commer-
cialized?

What are community identities? Why are they important?
Highlight different dimensions of ‘untouchability’ by giving suitable examples.

Are global interconnections new to the World and to India? Explain this by

giving suitable examples.
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25.

How has sanskritisation as a concept been criticized?
OR

State and discuss the different aspects of modern change in colonial India

Read the passage and answer the questions below:
Most deaths of children under five occur in India, says Unicef report
This is another ranking that India would hate to top.

Close on the heels of recording the largest number of women dying during child
birth, the country now occupies another top spot. India holds the uneviable record
of being home to the highest number of children who die before reaching their fifth
birthday.

According to the latest United Nations under-five mortality estimates, released by
Unicef, India recorded 17.26 lakh under-five deaths with a mortality rate of 66 in
20009.

The statistics was much worse in 1990 — the base year when the progress made

by countries to combat child mortality is calculated.

In 1990, India had recorded 31 lakh under-five deaths, with a mortality rate of
118.

The under-five mortality is increasingly concentrated in a few countries. About half
of global under-five deaths in 2009 occurred in only five countries : India, Nigeria,

Congo, Pakistan and China.

(TOI, New Delhi, September 18, 2010)

(1) whatis the difference between infant mortality rate and maternal mortality

rate?

(2) Name some of the countries where most children die under-five. According

to you what are the most common causes of death?
QUESTION PAPER CODE 62
What is meant by corporate culture?

What was the central issue behind Tebhaga movement?

305



10.

I1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Highlight the features of Ascriptive Identity.

What do you understand by the term ‘social structure’?

Define the term Globalisation.

Distinguish between social change and social movement.

What are the features of an unorganized sector?

Mention two factors that encourage regionalism.

What is Jajmani system?

Write two features of Transnational Corporations.

Name two associations formed by industrialists.

What does social exclusion refer to?

What is a proprietary caste group?

Give two examples of Dalit movements?

Under an Industrial System, how can production be increased?
OR

Highlight the condition of migrant workers in industries by giving suitable examples.

Define westernization. Describe some of its forms.

What is meant by communalism in the Indian context? Why has it been a recurrent
source of tension and violence.

Highlight the role of Colonialism in the emergence of new business communities,
with the help of any one example.
What transformations took place in the rural society in post Independent India?

Who wrote ‘Stree Purush Tulana’? What does it explain?
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22.

23.

24.

25.

OR

Compare and contrast the socio-economic conditions of tribals before and after
Independence.

What powers and responsibilities have been delegated to the Panchayats?

Highlight the sources of conflict between national development and tribal
development.

OR

Summarize the major changes in the institution of caste during the colonial period.

If capitalism became the dominant economic system in the colonial period, nation-
states became the dominant political form. Explain how this process took place.

Describe the changes that have been happening in the medium of television.

Read the following passage and answer the questions below :

Surprise! Punjab, Bengal lead in curbing birth rate silently, and without much sarkari
fanfare, dramatic changes are taking place in the population indicators of some
states that you won’t see reflected in country level data. Crude birth rate dipped
from 26.4 to 22.8 for the whole country between 1998 and 2008. That’s a 14%
decline. But in eight major states, the decline was much more. In Punjab, the birth
rate fell by a whopping 23%, followed by Kerala and Maharashtra (both 20%)
and West Bengal (18%).

Countrywide, the crude death rate, came down by 18% in a decade. Again there
were surprises in the toppers’ list. Both Madhya Pradesh and Rajasthan saw a
23% dip in death rates, closely followed by Bihar (22%) and U.P. (20%).

These astonishing figures are computed from the annual Sample Registration
System survey done by the Government’s Census office for the year 1998 and
2008, the latest available, covering a sample of 7.1 million people spread across
the country.

There has been a significant decline in the infant mortality rate in india from 72 in
1998 to 53 in 2008. Although the fiture is still shocking, at least there has been a
decline of 26% over the past decade.

(Times of India, New Delhi, July 26, 2010)
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(i) Whatis crude birth rate and natural growth rate of population?

(i) Name the states with maximum amount of decline in birth rate and in death
rate. What does the fall in death rate and birth rate indicate?
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SOCIOLOGY

General Instructions for Head Examiner
1. Examiner should adhere to the Marking scheme
2. Examiner to go through the Marking Scheme carefully before commencing evaluation.

3. Inthe questions which are general in nature, the examiner may take into consideration
any relevant points.
4.  Detail of Question Papers : Practical Exam =20
Theory Exam =80
Questions 1 to 14 are of 2 marks
Questions 15 to 21 are of 4 marks
Questions 22 to 24 are of 6 marks
Questions 25 is a passage having two questions of 2 & 4 marks

5. Examiners are requested to kindly be objective in checking papers and not to be over

sympathetic or over strict in marking.

Ans.

Ans.

QUESTION PAPER CODE 62/1
EXPECTED ANSWERS/VALUE POINTS

Write a note on purity and pollution.

The hierarchical order of caste is based on the concept of purity and pollution.
Pure is sacred/ritually pure whereas polluted is profane/impurt/defiling. Ritually
pure have high status while the impure have low status.

What is participatory democracy?

The members of a group or acommunity participate collectively in taking major

decisions.

309




Ans.

Ans.

Ans.

Ans.

Ans.

What features mark or characterize a social movement?
(a) Sustained collective action over time.

(b) Some degree of organization

(¢c) Leadership and structure

(d) Shared objectives and ideologies

(e) General orientation to bring about (or to prevent) change

(Any two)

Define ‘State’.

According to Max Weber, a state is a "body that successfully claims a monopoly

of legitimate force in a particular territory.
OR
Any other relevant meaning of state.
What steps were taken by colonial rulers for the smooth functioning of its
rule?

Colonial rulers introduced many changes —legal, cultural, architectural, western

education, social, economic, industrialization, urbanization etc.

(Any two)

What sectors or spheres are important in a modern economy?

Defence, transport and communication, power and mining, primary, secondary

and tertiary sectors etc.

(Any two)

What is meant by support prices?

They are the prices at which the government agrees to buy agricultural commodities.

OR

It is a mechanism controlled by the government so as to enable the farmer to put

a viable price for his marketable produce/surplus.
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Ans.

Ans.

10.

Ans.

11.

Ans.

12.

Ans.

What is meant by assimilationist policies?

Policies aimed at persuading, encouraging or forcing all citizens to adopt a uniform
set of cultural values and norms.

How did British industrialization lead to deindustrialization in some sectors
in India

(a) Declinein old urban centres because of Manchester competition.

(b) Decline in traditional export of cotton and silk.

(c) Decline in cities like Surat & Masulipatnam.

(d) Initial impact of British industrialization led to more people shifting to

agriculture.

(Any two)

What are the ways by which workers are made to produce more?
(a) Byextending working hours.

(b) By increasing the amount that is produced within a given period.
(¢) Machinery helps to increase production.

(d) Increasing output by organizing work — scientific management.

Highlight the potential of FM channels in a post liberalized India?
(a) FM channels provide a boost to entertainment programmes.
(b) They specialize in 'particular kinds' of popular music to retain their audiences.

(¢) Many of the FM channels are now owned by media conglomerates — like

Times of India, Star Network etc.
(d) Caters to local cultures —demand for local news is growing; local radio.

(Any two)

What does the principle of nationalism assume?

(a) Itassumes thatany set of people have aright to be free and exercise

soverei £n power.
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13.

Ans.

14.

Ans.

15.

16.

OR

(b) Itassumes commitment to one's nation and everything related to it. (Glossary)

Identify two negative social effects of Green Revolution.
(a) Increasing inequalities in rural societies.

(b) Displacement of service caste groups.

(¢) Worsened regional inequalities.

(d) Fallin prices or bad crop can spell financial ruin.

(Any two)
Highlight any two features of an organized sector.
(a) Allunits employ 10 or more people throughout the year.
(b) Employees get proper wages, pensions and other benefits.
(c) They have to be registered with the government.
(d) Presence of unions.
(Any two)

In what ways can changes in the social structure lead to changes in the
family structure.

(a) Changes in political, cultural, economic and educational sphere are linked
to changes in family structure.

(b) Migration of men can lead to women-headed family.

(¢) Composition of family changed — Joint families changing to Nuclear families.

(d) Work schedule of young parents may lead to increasing number of grand-
parents moving in, as care givers to grandchildren.

(or any other relevant point)
Discuss what is an Ecological Movement by giving suitable examples.
OR

Write a short note on AITUC.
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Ans.

(a) Over the decades there has been a great concern over the unchecked
depletion of natural resources.

(b) Theimpact of industrial pollution is yet another concern.
(¢c) Chipko Movement—In the Himalayan foothills.
(d) Villagers including women hugged the trees to prevent their being fell.
(e) Theeconomy of substance was pitted against the economy of profit.
(f) Chipko movement also raised the issue of ecological sustainability.
(or any other suitable example of the ecological movement) (Any four)
OR

In 1920 AITUC (All India Trade Union Congress) was formed in Bombay. It was
abroad based organization. It had diverse ideologies. The main ideological groups
were the communists (S.A. Dange, M.N. Roy), moderates (M. Joshi, V.V. Giri)
and nationalists (Lala Lajpat Rai, Jawahar Lal Nehru) too. Formation of AITUC
made the colonial government more cautious in dealing with labour. By mid 1920's
AITUC had 200 unions affiliated to it and its membership was around 2,50,000.

What arguments were given by Dr. Ambedkar and by Mahatma Gandhi

for constituting local governments?
OR

73rd amendment has had a monumental role in bringing a voice to the
people in villages. Comment.

(a) Dr. Ambedkar was of the view that local self government only means a
continuing exploitation of downtrodden masses of Indian society.

(b) The upper castes and elites were so well entrenched in the society that they
would silence the lower caste.

(¢) Mahatma Gandhi envisaged each village as a self sufficient unit conducting
its own affairs.

(d) Gandhiji saw Gram Swarajya to be an ideal model to be continuing after
independence.

OR
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18.

19.

20.

(a)

(b)

(©)

(d)

In what ways did the Indian economy change after the coming of colonialism?

(a)
(b)

(©)
(d)
(e)
®

The beginning of the printing press led to the growth of the idea of a ‘Nation

73rd amendment provided constitutional status to the Panchayati Raj
Institutions — 3 tier system of Panchayati Raj.

Local self government bodies in rural and municipal areas to be elected after
every five years.

It assured reservation of 1/3 seats for women which bestowed on them the
decision making power.

Out of this 17% seats reserved for the women belonging to SC & ST.

It disrupted production, trade and agriculture.

Closing handloom units due to flooding of market with cheap manufactured
textiles.

It began to be more fully linked to the world capitalist economy.

It became a source of raw materials.

New groups entered into trade and business e.g. Marwaris, Parsis etc.
Setting up of coffee, tea and rubber plantation.

(Any four)

9

as an ‘imagined community’. Discuss as suggested by Benedict Anderson.

(a)

(b)
(©)

(d)

It was in many ways responsible for people across a country to feel

connected.
It developed a sense of belongingness or 'we feeling'.

This helped the growth of nationalism — the feeling that people who did not

even know to each other's existence feel like members of a family.

It gave them a sense of togetherness.

What changes took place in the areas where agriculture became more

commercialized?

(a)
(b)

Transition to capitalist agriculture.

Farmers becoming more oriented to the markets.
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21.

Ans.

22,

Ans.

23.

Ans.

(c) Rural areas integrated into wider economy.
(d) Increased flow of money into villages expanded employment opportunities.

(e) Loosening of traditional bonds between land owners and agricultural workers

leading to shift from 'patronage’ to 'exploitation'.
(f) Commercialization transformed the agrarian structure and rural society itself.

(Any four)

What are community identities? Why are they important?

(a) These are based on birth & 'belonging'.

(b) Gives asense of security and satisfaction in belonging to a community.
(c) Creates emotional attachment within the community.

(d) Provides us language and cultural values.

Highlight different dimensions of ‘untouchability’ by giving suitable examples.

(a) Exclusion—Prohibited from sharing drinking water, collective religious

worship, social ceremonies and festivals

(b) Humiliation-subordination — performance of publicly visible acts such as taking
off headgear, standing with bowed head or not wearing white clothes, and

compelled to play the drums at a religious event.

(c) Exploitation —economic exploitation through the imposition of forced unpaid

or underpaid labour or the confiscation of property.
(Explanation of all three)
Are global interconnections new to the World and to India? Explain this by
giving suitable examples.

(a) No, it was notisolated from the world — famous silk route connected India

to the great citilization which existed in China, Persia, Egypt and Rome.
(b) Colonial and Global connections :

1. New sources of capital, raw material, energy markets and global

network that sustained it.
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Ans.

()

2. Migration of European people who settled in America and Australia.

3. Indentured labour from India was taken away to work in distant
localities.

4.  Slave trade carted thousands of African away to distant shores.
Independent India and the world —

1. Commitment to libration struggles, solidarity to people from different
parts of world was very much a part of global outlook.

2. Indians travelled overseas for education and work.

3. Migration has been an ongoing process.

How has sanskritisation as a concept been criticized?

OR

State and discuss the different aspects of modern change in colonial India

(@)
(b)
(©
(d)
(e

(a)

(b)

(©)

It has been criticized for exaggerating social mobility.
Accepts upper caste as superior and lower cast as inferior
It rests on the model of inequality and exclusion

Dalit culture and society gets eroded

Results in adoption of upper caste rites and rituals, it leads to practices of
secluding girls and women, adopting dowry practices and practicing caste

discrimination etc.
(Explanation of any three)
OR

Modes of communication — New technologies such as printing press, telegraph
etc. speeded up various forms of communication. Exchange of ideas among

social reformers, Christian missionaries reached remote corners.

Forms of organization — Brahmo Samaj, Arya Samaj etc. were setup.

Translation of writings of social reformers from one Indian language to another.

The nature of ideas — New ideas of liberalism and freedom, home making

and marriage, new roles of mothers and daughters, new ideas of self conscious
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Ans.

pride emerged. Value of education became important. This was a period of
questioning, reinterpretation and both intellectual and social growth.

Read the passage and answer the questions below:
Most deaths of children under five occur in India, says Unicef report
This is another ranking that India would hate to top.

Close on the heels of recording the largest number of women dying during
child birth, the country now occupies another top spot. India holds the
uneviable record of being home to the highest number of children who die
before reaching their fifth birthday.

According to the latest United Nations under-five mortality estimates,
released by Unicef, India recorded 17.26 lakh under-five deaths with a
mortality rate of 66 in 2009.

The statistics was much worse in 1990 — the base year when the progress
made by countries to combat child mortality is calculated.

In 1990, India had recorded 31 lakh under-five deaths, with a mortality
rate of 118.

The under-five mortality is increasingly concentrated in a few countries.
About half of global under-five deaths in 2009 occurred in only five countries
: India, Nigeria, Congo, Pakistan and China.

(TOIL, New Delhi, September 18, 2010)

(1) whatis the difference between infant mortality rate and maternal
mortality rate?

(2) Name some of the countries where most children die under-five.
According to you what are the most common causes of death?

1. (a) Infantmortality rateisthe number of death of babies before the age of
one year per thousand live births.

(b) Maternal mortality rate is the number of women who die in child-
birth per 1000 live births.

2. (a) Nigeria, Congo, Pakistan, China, India.

(b) Common causes of death — Pneumonia, Diarrhoeal diseases, death
during home deliveries, lack of medical facilities etc. or any other suitable
cause.
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Ans.

Ans.

Ans.

Ans.

QUESTION PAPER CODE 62
EXPECTED ANSWERS/VALUE POINTS

What is meant by corporate culture?

(a) Itisbranch of management theory that seeks to increase productivity and

competitiveness through a unique culture.

(b) Itmay involve company events, rituals and traditions to enhance employee

loyalty and promote group solidarity.
(c) Italsoreferstoaway of doing things of promotion and packaging products.

(Any two)

What was the central issue behind Tebhaga movement?

Tebhaga movement was a struggle of sharecroppers in Bengal and North Bihar
for two third share of the produce instead of customary half.

Highlight the features of Ascriptive Identity.

(a) Itisbased on birth.

(b) Does notinvolve any choice on the part of the individual concerned.

(c) Itisuniversal.

(Any two)

What do you understand by the term ‘social structure’?
It is a continuing arrangement of persons in relationship defined or controlled by
institutions.

OR

It refers to the fact that society is structured-that is organized or arranged in particular

ways.
OR

It refers to regularities or patterns in how people behave and in the relationships
people have with one another.

(Any one)
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Ans.

Ans.

Ans.

Ans.

Ans.

10.

Ans.

Define the term Globalisation.

Globalization refers to the growing interdepence between different peoples, regions

and countries in the world and social and economic relationship stretch world-wide.

OR

A complex series of economic, social, technological, cultural & political changes
that have increased interdependence, integration and interaction among people

and economic sectors in disparate location.
OR
Itis integration and extension of markets around the world.

(Any two)

Distinguish between social change and social movement.
(a) Social change is continuous and ongoing.

(b) Social movements are directed towards some specific goals.

What are the features of an unorganized sector?
(a) Itisaninformal sector.
(b) Very few people have access to secure jobs.

(Any other relevant point)

Mention two factors that encourage regionalism.

(a) Concentration of identity markers in particular regions like languages,

cultures, tribes and religion

(b) A sense of regional deprivation.

What is Jajmani system?

It is non market exchange of produce, goods and services within the Indian
village, without the use of money, based on caste system and customary
practices.

Write two features of Transnational Corporations.

(a) TNC's produce goods or market services in more than one country.
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11.

Ans.

12.

Ans.

13.

Ans.

14.

Ans.

(b) They may be relatively small firms with one or two factories outside the
country in which they are based or they may be gigantic international ones
where operations criss-cross the globe

(c) They are oriented to the global markets and global profit even if they have a

clear national base.
(Any two)
Name two associations formed by industrialists.
(a) FICCI (Federation of Indian Chambers and Commerce)
(b) ASSOCHAM (Association of Chambers of Commerce).
(or Any other)

What does social exclusion refer to?

Social exclusion refers to ways in which individuals may become cut off from full

involvement in the wider society.
OR

It refers to combined outcome of deprivation and discrimination which prevents
individuals or groups from participating fully in the economic, social and political
life of the society in which they live

(Any one)

What is a proprietary caste group?
(a) Owns most of the resources.
(b) Cancommand labour to work for them.

(Any two)

Give two examples of Dalit movements?
(a) Satnami movement in Chattisgarh

(b) Adi Dharam movement in Punjab

(c) Mahar movement in Maharashtra

(d) Jatavasof Agra

(Any two)
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15.

Ans.

16.

Ans.

Under an Industrial System, how can production be increased? 4
OR
Highlight the condition of migrant workers in industries by giving suitable

examples.

(a) Under this system all work is broken down into its smallest repetitive 1+1+1+1

elements and divided between workers.
(b) Workers timed with help of stop watches and had to fulfill certain targets.
(c) Productionis further speeded up by introduction of assembly line.

(d) The speed of work could be set by adjusting the speed of the conveyor
belt.

OR
(a) Ten totwelve are housed in small rooms. 1+1+1+1
(b) One shift has to make way for the other
(c) Have little time to socialize
(d) Taking people in the direction of loneliness and vulnerability examples —
Orissa, Tamil Nadu, Karnataka or any other.
Define westernization. Describe some of its forms.

According to M.N. Srinivas, it is changes brought about in Indian society and

culture as aresult of 150 years of British rule. 2+2
OR

It refers to western influence on Indian society as a result of 150 years of British

rule.

(a) A section of Indians who first came into contact with western culture
(b) People affected by western way of thinking

(¢c) General spread of western cultural traits

(d) Itinfluenced Indian art and literature.

(Any two forms)
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17.

Ans.

18.

Ans.

19.

Ans.

20.

What is meant by communalism in the Indian context? Why has it been a

recurrent source of tension and violence.

Communalism is an attitude that sees one's own religious group as the only

legitimate group while others as inferior, illegitimate and opposed.

(a)
(b)

(©

Itis an aggressive political ideology linked to religion

Itis recurrent source of tension and violence because during communal riots

people are willing to kill, rape and loot members of other community.

The instances are, anti-Sikh riots of Delhi, anti-Muslim violence in Gujarat

(with explanations).

(Any two reasons)

Highlight the role of Colonialism in the emergence of new business

communities, with the help of any one example.

(a)

(b)

(©)
(d)

During colonial rule new groups entered into trade and business to take

advantage of the economic opportunities.

A good example is Marwaris represented by leading industrialist families as
the Birlas.

They carry out trade and money lending and also acted as bankers.

In late colonial period some Marwaris transformed themselves into modern
Industrialists.

(Any other relevant example)

What transformations took place in the rural society in post Independent
India?

(a)
(b)
(©)
(d)

Increase in the use of agricultural labour
Shift from payment in kind to cash
Loosening of traditional bonds.

Rise of a class of free wage labourers.

(Any other relevant point)

Who wrote ‘Stree Purush Tulana’? What does it explain?
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21.

22,

OR

Compare and contrast the socio-economic conditions of tribals before and

after Independence.

(a)
(b)

(©

(d)

(a)
(b)

(©)

(d)

Tarabhai Shinde.

Itis a protest against the prevalence of double standards in a male dominated

society
A young Brahmin widow sentenced to death for giving birth to an illegitimate
child.
No effort done to identify or punish the man who fathered the baby.
OR
No change before or after independence in their condition.

Colonial govt. reserved the forests for its own use while Indian government

reserved it for national development

The mainstay of their livelihood was taken away by the colonial government
and after independence too they were displaced without any appropriate

compensation or rehabilitation.

They were alienated from the lands and resources upon which they depended

What powers and responsibilities have been delegated to the Panchayats?

(a)
(b)
(©)
(d)

To prepare plans and schemes for economic development
To promote schemes that will enhance social justice
To levy, collect and appropriate taxes, duties, tolls and fees

Help in the devolution of governmental responsibilities, especially that of

finance to local authorities

(Any four)

Highlight the sources of conflict between national development and tribal

development.

OR
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Ans.

23.

Ans.

Summarize the major changes in the institution of caste during the colonial
period.

(a) National Development involves building of dams, factories etc. for which

tribals have been paid a disproportionate price 6
(b) The process disposses tribals of their land
(c) Theloss of forests is a major blow to the tribal's distinct way of life
(d) Heavy in-migration of non-tribals threatens and disrupts their culture
(With any relevant example)
OR

(a) They wanted to understand the complexities of caste to govern the country 1x6

efficiently

(b) Very methodical and intensive surveys census were conducted that highlighted
caste identity

(c) Reports on customs and manners of various castes all over the country

(d) Seeking information on social hierarchy of caste led to positioning of each

caste in rank order

(e) Before this kind of intervention caste identities had been relatively more fluid

but now it became rigid

(f) Representatives of different caste started claiming higher position in social
status

(2) Legal recognition was given to the customary rights of the upper caste
(h) Government of India Act of 1935 was passed to give legal recognition to the

Schedules of Castes and tribes

If capitalism became the dominant economic system in the colonial period,
nation-states became the dominant political form. Explain how this process
took place.

(a) Capitalism is a process where means of production are privately owned and 1x6

based on accumulation of profits

(b) Capitalism in the west emerged subsequent to the European exploration of
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24.

Ans.

25.

the rest of the world to plunder wealth and resources, growth of science and

technology

(c) Itwasmarked by it's dynamism, its potential to grow, expand, innovate, use

technology and labour to ensure greatest profits — global nature

(d) A nation-state is a dominant political form of modern society, state has

sovereign power with a defined territorial area
(e) Poeple are citizens of a single nation with rights guaranteed by the state

() Nation-states are closely associated with the rise of nationalism.

Describe the changes that have been happening in the medium of television.

(a) Privately run satellite channels have multiplied

(b) Viewership has increased

(c) Several new channels and regional networks have been introduced
(d) Expansion in the cable television industry

(e) Multiplied entertainment options for the audience

(f) Foreign networks have introduced regional language segment or regional
language

(Any other relevant point)

Read the following passage and answer the questions below :

Surprise! Punjab, Bengal lead in curbing birth rate silently, and without
much sarkari fanfare, dramatic changes are taking place in the population
indicators of some states that you won’t see reflected in country level
data. Crude birth rate dipped from 26.4 to 22.8 for the whole country
between 1998 and 2008. That’s a 14% decline. But in eight major states,
the decline was much more. In Punjab, the birth rate fell by a whopping
23 %, followed by Kerala and Maharashtra (both 20% ) and West Bengal
(18%).

Countrywide, the crude death rate, came down by 18 % in a decade. Again
there were surprises in the toppers’ list. Both Madhya Pradesh and
Rajasthan saw a 23 % dip in death rates, closely followed by Bihar (22 %)
and U.P. (20%).
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These astonishing figures are computed from the annual Sample
Registration System survey done by the Government’s Census office
for the year 1998 and 2008, the latest available, covering a sample of
7.1 million people spread across the country.

There has been a significant decline in the infant mortality rate in india
from 72 in 1998 to 53 in 2008. Although the fiture is still shocking, at least
there has been a decline of 26 % over the past decade.

(Times of India, New Delhi, July 26, 2010)
(i) Whatis crude birth rate and natural growth rate of population?

(ii) Name the states with maximum amount of decline in birth rate and in death
rate. What does the fall in death rate and birth rate indicate?

(i) Crude birth rate is the rough/average birth rate

Natural growth rate is difference between the birth rate and the death rate
(i) Max. number of decline in birth rate - Punjab (23%)

Max. number of decline in death rate - MP & Rajasthan (23%)

According to the theory of demographic transition this is the last stage found
in developed countries where both birth rate and death rate have been reduced

resulting in low growth rate.
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HOME SCIENCE

Time allowed : 3 hours Maximum Marks : 70

f A\
GENERAL INSTRUCTIONS :

(i) All questions are compulsory..
(ii) Marks for each question are indicated against it.
(iii) Read each question carefully and answer to the point.

(iv) All parts of a question should be attempted together.

QUESTION PAPER CODE 69/1

1. Mention the standard marks you would look for while buying packets of baking

powder and pure ghee. 1
2. Name any two grease solvents which are used to remove stains from garments. 1
3. At what age does an infant child cut his first milk tooth? How many milk teeth

does he have when he is 2V2 years old? 1
4. Why is friction method not used to wash woollens? 1
5. State two important points you would consider while buying clothes for an

adolescent boy. 1
6. Indicate two cognitive abilities of a child at the age of six months. 1
7. Mention two adulterants which are commonly found in tea leaves. 1
8. When suffering from diarrhoea, which two kinds of foods should Sudha avoid in

her meals. 1
9. Present two arguments to justify that crying is important in the language develop-

ment of a child. 1
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10.

I1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

State two indicators of good workmanship in the collar of a gent’s shirt.

To ensure accuracy in length, what four points would you check while buying

fabric from a shopkeeper.

Rini is using a chemical to remove stains from her silk dress. What precautions

should she take to prevent any damage to the fabric?

Home Science offers vast self employment opportunities in each of its fields.

Support this statement with the help of an example from each field.
What four qualities of a fabric would qualify it to be comfortable?

State two indicators each by which a mother knows that her eight month old

child has normal motor and social development.

Name two things which can damage cotton clothes during storage. What two

steps should you adopt to prevent this spoilage?
In what four ways can a one year old express his emotion of fear?

Recommend four facilities you would want in the creche of your three years old
brother.

Give four reasons as to why lactating women should regularly visit an ICDS

centre.

Pradeep is a bank manager. He lives in a coastal area with his wife, old parents
and grand-mother. Mention four important factors which would influence the
meal planning of this family.

Use of chlorine tablets may not always assure you to get safe potable water.

Support this statement with four reasons.

Most villages are suffering from swelling in feet and legs. The doctor has ascribed
it to some adulteration in their food. What could be this adulterant? Mention three
other symptoms associated with this adulterant. Suggest two ways by which villagers

can safeguard themselves from buying adulterant foods.
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

What could be six possible unhygienic practices adopted by roadside vendors
selling chaat papri?

What six things your mother can do to supplement her real income?

Justify with six reasons as to why all families should maintain their household

accounts.

Outline the steps of washing a silk sari at home.

Identify four symptoms of diphtheria. Present two important points for its prevention.

[Nlustrate four ways each of creating emphasis and harmony in a salwar-kameez suit.

List any four difficulties a deaf and dumb child may face in a normal classfoorm.

What are the aids available which can help meet their specific needs.

A family where the daughter-in-law is pregnant has been served aloo parantha
and curd for breakfast. What modifications will you carry out in this meal to suit
the nutritional needs of a pregnant woman? Why does she require these additional
nutrients?

Describe the right to information and right to safety. Write one step each taken
by government which ensures that these two rights of consumers are adequately

met.

Your brother works in a bank and wants to invest one lakh rupees. Suggest to him
any two schemes which are safe and also provide tax rebate. Mention three other

features of each of these two schemes.
QUESTION PAPER CODE 69

Mention the standard marks you would look for on the packets of salt and honey,
while buying.

Name two grease absorbents which are used to remove stains from garments.

At what age does an infant cut his first milk tooth? How many milk teeth does he

get till one year.
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10.

I1.

12.

13.

14.

15.

16.

17.

18.

Give two suggestions to remove excessive blue from cotton garments.

State two important points you would consider while buying clothes for a seven-
month-old child.

Indicate two cognitive abilities of a child at the age of one year.
Mention two adulterants which are commonly found in coffee.

When suffering from fever, which two kinds of foods should Sudha have in her

meals?
How does babbling help in the language development of a child?
State two indicators of good workmanship in the cuff of a gent’s shirt.

To ensure accurate quantity, what four points would you check while buying milk
from amilkman?

Rini spoilt her silk dress while removing stains with a chemical. What precautions

should she have taken to prevent this?

“Home Science offers vast self employment opportunities in each of its fields.”
Support this statement with the help of an example from each field of Home

Science
What four qualities of a fabric would determine its property of durability?

State two indicators each by which a mother knows that her four-month-old

child has normal motor and social development.

Name two things which can damage silk clothes during storage. What two steps

should you adopt to prevent this spoilage?
List four main reasons for a two-year-old child to get angry.

Which four qualities would you look for, while selecting staff for a creche?
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

Give four reasons as to why pregnant women should regularly visit an ICDS

centre.

Rehman is a farmer. He lives in a hilly area with his wife, two school-going
children and an old mother. Mention four important factors which would

influence the meal planning of this family.

“Use of boiling method may not always assure you to safe potable water.”

Support this statement with four reasons.

Most villages are suffering from paralysis. The doctor has ascribed it to some
adulterant in their food. What could be this adulterant? Mention two other symptoms
associated with this adulterant. How can villagers safeguard them-selves from

buying adulterated foods?

List six desirable hygienic habits you would propose to a vendor who sells chat-

papri by the roadside.

What six ways can college-going students adopt to help themselves in supple-

menting their real income?

Predict six problems a family can face if it does not maintain record of its house-

hold expenses.
Outline the steps of washing a woollen sweater at home.
Identify any three specific symptoms of polio. How can it be prevented ?

[Nlustrate any four ways each of creating emphasis and rhythm in a dress of skirt

and a top.

List any four difficulties a partially blind child may face in a normal classroom.
What facilities can be made available in school which can help meet his/her specific

needs.

A family with a lactating mother has been served aloo parantha and curd for
breakfast. Modify the meal to suit the nutritional needs of the lactating mother,

justifying your selection adequately.
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31.

32.

Describe the right to information and right to basic needs. Write one step each
taken by government which ensures that these two rights of consumers are adequately

met.

Your brother works in a bank and wants to invest one lakh rupees. Suggest to him
any two schemes which are safe and also provide tax rebate. Mention three other

features of each of these two schemes.
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Marking Scheme —— Home Science

IMPORTANT NOTE:

1. Instructions for drawing up the Marking Scheme should be followed carefully.
2. If general instructions have to be given, do so at the beginning of the page itself.
3. Some subjects will require specific directions for particular type of questions.

Do not omit indication of value points, time required for any of the questions even though it
may seem obvious.

QUESTION PAPER CODE 69/1
EXPECTED ANSWERS/VALUE POINTS

(1) Baking power - ISI

() Ghee-Agmark [Yax2=1]

(1) Acetone

@) Petrol

(iii) Methylated spirit

(iv) Carbon tetrachloride

(v) Ether

(vi) Benzene (any two) [Yax2=1]
For Hindi Medium (above and below answers)

(vii) Talcum powder

(viii) Bran

(ix) Chalk powder

(x) Soap/detergent (any two)
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10.

@
(1)
@

(1)

(1)
(1)
@

(1)
(1)

(1)
(1)
(iv)
@

(1)
(1)
(iv)
\Y)
(vi)
@

(1)
@

(1)
(1)

Between 5-8 months

Teeth at 22 months - Twenty

Woollens have rough scaly surface. These scales overlap each other and
some get entangled which leads to felting.

Delicate fibre becomes weak when wet  (any one)

Variety - mix and match
According to fashion

Correct fit  (any two)

Repeats interesting sounds caused by own actions (coos, gurgles)
Actions more purposeful/intentional behaviour

Can copy familiar actions  (any two)

Iron fillings
Exhausted tea
Non-edible tea leaves artificially colored

Extraneous colour  (any two)

Laxative/fibrous foods

Spicy

Irritants (chemicals/mechanical)
Oily/fried

Stale foods

Extremely cold or hot foods  (any two)

It is a pre-speech form which helps in communicating needs of a child

Know urgency of child's needs (cry loudly if need is urgent)

Has buckrum
Reinforced

Stitched with strong, coloured thread
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I1.

12.

13.

14.

(iv)
v)
(vi)
(vii)
@
(ii)
(iif)
(iv)
@
(ii)
(iif)
(iv)
\
(vi)

(vit)

Collar size according to size of shirt
No puckering at neckline
Collars evenly cut

Any other (any two)

He does not use a table to measure cloth
Measuring rod is not bend or broken
Does not stretch cloth while measuring

Cuts the fabric at the point where he has measured

Select chemical according to the stain and fabric
Test chemical in hidden corner

Simple to complex procedure

Use blotting paper to absorb extra chemicals
Use chemicals in mild form

Work from outside to inside

Rinse all chemicals

(vii) Any other  (any four)

@

(ii)
(iif)
(iv)
@

(ii)
(iif)
(iv)
\9
(vi)

Food and nutrition - cater parties, any other

Clothing and textiles - fashion designer, any other

Child development - baby sitter, open a school, any other

[Vax2=1]
[V2x 4 =2]
[V2x4=2]

Home management - free lancer interior decorator, open florist shop, any other [Y2 x 4 = 2]

Air permeability
Good conductivity
Stretchability
Absorbent

Light weight

Soft (any four)
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15.

16.

17.

Motor

(i)  Stand upright with support

() Crawl on stomach, hand and feet

@) Crasp things

(iv) Any other (any two)

Social

(1)  Attached to mother shows attachment by pulling hair/spectacles/bindi
@) Candifferentiate between angry/friendly voices

@) Stranger anxiety (any two) [Vax 4 =2]

Causes of damage

(i) Silverfish/Starch

@) Milddew

@) Damp/dirty clothes

@v) Rust, if pins are left in the garment/rusted hooks (any two)
Precautions

(v) Remove starch

(vi) Store when completely clean/dry

(vi)) Airdry/Sundry

(vii)) Spray insecticide in boxes before storing it

(ix) Putnewspaper on base of storage box (any two) [V2x 4 =2]

(i) Pulls away from source of fear
(i) Hidesface

@) Turns face away

@iv) Cries

(v) Bed wetting

(vi) Any other (any four) [Vax 4 =2]
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18.

19.

20.

21.

()

(1)
(i)
(1v)
v)
(vi)

Hygienic environment
Flexible timing
Trained staff
Suitable/safe toys
Company of own age

First aid facility

(vii) Comfortable sleeping space

(viii) Safety and security

(ix)
()
(1i)
(1)
(iv)
v)
()
(1)
(1)
(iv)
v)
(vi)
(vii)

@)

(1)

(1)
(iv)
v)

Any other (any four) [Vax 4 =2]

Postnatal care provided
Breast feeding promoted
Immunization of her child

Provided knowledge about balanced diet, weaning foods, child care

Education for hygiene and sanitation (any four) [V2 x4 =2]

Regional - coastal - will include coconut, bananas/sea foods in meals
Age - grandmother will need meals which are easily digestible and bland
Activity - he is sedentary worker

Religion - Hindu - will not include beef in meals

Like and dislikes

Use seasonal vegetables

Any other (any four) [Vax 4 =2]

Tablet not used in correct proportion to amount of water /4 mg to 1 litre or
one tablet to 20 litres

Tablet not allowed to react with water for sufficient time / 10 minutes for

normal water / 20 minutes for more dirty water
Tablet not stirred propetly/Water not shaken after putting tablet

Container not rinsed/Screw bands not rinsed

Not stored in clean utensils (any four) [Vax 4 =2]
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22.

23.

24.

()

Adulterant-argemone

Symptoms

(1)
(1)
(1v)
v)
(vi)
(vii)

Heart diseases

Rash on exposed parts of body
Enlarged liver

Renal failure

Glaucoma

Respiratory distress (any three)

Safeguard

(viii) Buy food with standard mark/Agmark

(ix)
(x)

(@)

(1)
(1if)
(iv)
v)
(vi)
(vii)

Reputed company and reputed brand

Sealed/not buy open packets (any two)

Plates are not washed with clear water and detergents/does not use disposable
plates and spoons.

Does not use gloves to serve

Does not cover food

Does not cover dustbin

uses stale food

Long and dirty nails and hands

Has boils and cuts in hands

(viii) Handle food when suffering from cold/cough

(ix)
(x)
()

(1)
(1)

Do not wipe spills with clean cloth

Does not use ladles to take out food (any six)

Does her household chores herself
Use community facilities - public bus to go for shopping

Shares carpool to leave children to school or go to office
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@iv) Does not order food/cook at home
(v) Teaches own child

(vi) Grows vegetables in pots/garden
(vi)) Stitches garments for family

(viii) Bulk buying

(ix) Any other (any six) [V2x 6 =3]

1  Will know exact amount of money available to family
(i) Prevent wasteful expenditures

(i) Avoid getting overcharged

(iv) Money lasts throughout the month

(v) Money is spend systematically

(vi) Helps to refer from the past and compare prices [V2x 6 =3]

(i) Useluke warm water (do not soak)

(i) Usemild liquid soap reetha-nut solution

(i) Usekneading and squeezing method (light pressure)

@iv) Rinse all soap in cold water

(v) Add few drops of vinegar lime juice in last rinse for shine. Add gum water
along with vinegar for stiffness

(vi) Dry in shade on clothesline [V2x 6 =3]

Diphtheria

(i) Loss of appetite

(i) Bull neck appearance
@) Tonsils getinflammed
@iv) May choke the patient
(v) Highfever

(vi) Difficulty in swallowing
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28.

(vii) Difficulty in breathing
(viii) Grey lining in throat (any three) (V2 each)

Prevention:

(1 DPT vaccine given in 3 doses starting from 12 months at one month interval

(i) booster dose given after 1%2 year
(ii)) Isolate patient
@v) Disinfect clothing, beddings, toys, etc

(v) Disposal of nasal/oral discharges in proper manner. (any three)

Emphasis:
(1) Toemphasize neckline-embroider around neckline/any other example
(i) Contrasting collar will emphasize it/any other example of any other part

@) Repeat color on neckline, hem, dupatta, cuff/Matching same color accessories

(necklace, earring, bangles, any other example

(iv) Using an unusual collar/doing applique work on bodice to emphasize it, any

other example (Y2 mark each)
Harmony:

(i) Repetition of colour/design/embroidery/Duppata, salwar should have same

print embroidery as in kameez/any other example

(i) Same fabric quality in all parts of dress/e.g. Use same texture/related colours

fabric in duppata and salwar as the kameez/any other example

(i) Structural lines should have compatible angles/Align print of shirt and sleeves/

different panels in kameez should have same direction of print
(@iv) Gradation of colours/design

(v)  Size of print should be according to size of kameez (small print for small size

kameez

(vi) Design of embroidery should complement the dress and not clash with it/e.g.
geometrical design on flowers clash with each other

(vil) Any other (any four)
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29.

FOR FULLY DEAF AND DUMB

(i) Cannot hear, so have to rely on sight

(i) Problems in social adjustment due to lack of communication
@) Take time to learn concepts which rely on language

@iv) Teacher talking in exaggerated way - cannot guess the words through lip
reading

(v) Teacher not standing still in one place, while talking

(vii) Negative attitude of children and teachers/no guidance and support from
teachers

(viii) Not given opportunities/activities not organized keeping their disability in
mind

(ix) Problem in social adjustment due to difficulty in communication (Any four)

AIDS AVAILABLE

(i) Signlanguage (use of manual alphabets)

(i) Maketon (pictures with sign language)

@) Lipreading

(iv) Seating in semi circle

(v) Organize activities according to abilities (any four) [Y2x 8 =4]

OR

PROBLEM FOR PARTIAL DEAD AND DUMB

@ Difficulty in hearing

(i) Too much noise can hamper hearing with hearing aid

@) Teacher talking in exaggerated way - cannot guess the words through lip

reading
(@iv) Teacher not standing still in one place, while talking

(v) Own personality may be irritable, pessimistic, introvert, moody, inferiority

complex

(vi) Not given opportunities/activities not organized keeping their disability in
mind. (any four)
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30.

31.

AIDS FOR PARTIALLY DEAD AND DUMB

(@)
(L)
(i)
(iv)
(1)
(i)
(i)
(iv)

Use of hearing aids
Auditory hearing units
Seating in semi circle

Organize activities according to abilities (any four)

Any thing rich in iron (mint, anar) in curd
Give more curd for calcium
Add methi for folic acid in parantha

Add besan/dal in atta for proteins (any four relevant suggestions)

Reasons:

(1)

(i)

(iif)
(iv)

Iron is needed for hemoglobin, increased iron absorption

Folic acid is needed for regeneration of blood cells/helps reduce abnormalities,
prevents anemia

Proteins is needed for growth of foetus, placenta, uterus, breast size

Calcium is needed for increased mineral absorption, formation of bones of
foetus deficiency, leads to decalcification of mothers bones/teeth

The right to information: This ensures provision of information about the quality,

standard, quantity, potency, purity, standard and price of goods and services through

detailed labels/leaflets/booklets, so as to protect the consumer against unfair trade

practices and not be misled by lack of information or misinformation.

Steps taken by government:

(@)

(i)
(i)
(iv)

Issuing warnings along with advertisement of toxic products (e.g. cigarette
smoking is injurious to health)

Prohibits deceptive packaging. Example of imitation labels
Makes sure packages clearly identify their price and content

Any other (any one)

Right to safety: A consumer has the right to demand safe goods and be protected

against all harmful products like adulterated food or unsafe electrical appliances.

For example, if your oven gives an electrical shock, or your cooker bursts, then

under the right to safety, you can file a complaint against the manufacturers
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32.

ROLE OF GOVERNMENT

(1) Issues standardized marks

(1) Has enforced PFA act to curb adulteration

@) Organizes consumer awareness programmes

(v) Formulates right and responsibilities by COPRA

(v) Consumer forums set up to protect consumer rights.

(vi) Any other (any one)

PUBLIC PROVIDENT FUND

(i) Loan facility

(i) High rate of interest / 8% interest

(i) Interesttax free

@iv) Can withdraw money after 6 years/premature withdrawal allowed
Or NSC

(i Highrate of interest/8%

(i) No limit of investment

(i) Short time investment/Matures after 6 years
@v) Can take loan against it

ORLIC

(1) Interesttax free in LIC

(i) Easy/Low premiums in installments

(i) Can take loan

(iv) Family secure/future secure

OR Employees Provident Fund

(1) Rate of interestis 8.5%

(i) Compound interest (interest on interest)

@ii) Every month cut from salary/easy payments
@iv) Take loan

(v) Safe future/old age/retirement
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Or Fixed deposit in banks for 5 years

(i Loan

(i) Higher rate of interest than savings

@iii) Inculcate habit of saving

@iv) Simple and accessible

(Y2 mark each for name of scheme and ¥2 mark each for three features each of

two schemes)

QUESTION PAPER CODE 69
EXPECTED ANSWERS/VALUE POINTS

@  Salt-ISI

(i) Honey - Agmark

(i) Talcum powder

(i) Bran

@) French chalk

(iv) Powdered magnesia (any two)
(1) Around 6 months/5-8 months
(i) Atone year— 6 teeth

(i) Dipin plain water

@) Putvinegar/lime in this water
(1) Reinforced from knees

@) Extraallowance

@) Comfortable

@iv) Soft clothes

(v) Easytomaintain

(vi) Easyto wear
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10.

(vii) Pastel/pleasant colors

(viii) Correct size

(ix)
®
(1)
(iif)
(iv)
\Y)
®
(1)
(iif)
®
(1)
(iif)
(iv)
\Y)
@
(1)
(iif)
@
(1)
(iif)
(iv)
\Y)
(vii)

Any other (any two)

One action leads to another

Imitates behaviour

Actions become more purposeful/intentional behaviour

Repeats action in variety of ways

Can anticipate events better (any two)

Chicory
Powdered date seeds

Powdered tamarind seeds  (any two)

Bland/non spicy
Soft

Digestible

Lot of fluids

High calorie diet (any two)

Helps in vocal mechanism/Clears speech
Helps in muscular coordination

Quickens the learning process of speech (any two)

Placket of cuff front over back

Stitched with strong, matching colored thread
Even stitches

Reinforced with buckrum/tatum

Cuffs equal in size/even stitches

Any other (any two)

345

[Vax2=1]
[Yax2=1]
[Yax2=1]
[Vax2=1]
[Vax2=1]
[Yax2=1]



I1.

12.

13.

14.

15.

(1) Measure should not have a false bottom

(i) When he measures he should fill it to the brim
(i) He should empty the content completely

(@iv) Standard measure with stamp is used

(iv) Letfoamsettle (any four) [Vax 4 =2]

(1) Testchemical in hidden corner

@) Usechemicalsinmild form

@iii) Follow simple to complex procedure
(iv) Work from outside to inside

(v) Rinse all traces of chemicals

(vi) Select chemical according to fabric/stain

(viii) Use blotting paper to absorb extra chemical (any four) [V2x 4 =2]

(i) Food and nutrition - chef, lobby, manager, any other
@) Clothing and textiles - fashion designer in a garment factory, any other
(i) Child development - counselor, open a school, baby sitter, any other

(iv) Home management - interior decorator with an architect, any other [V2x 4 =2]

(1) Blended fibre/manmade fibre

(i) Filament stronger than staple yarns
(i) Mercerized

(iv) High thread count

(vi) Twill weave/plain weave (any four) [Vax 4 =2]

Motor
@)  Sitwith support
(i) Roll from back to side

(i) Reach for dangling object (any two)
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16.

17.

18.

19.

Social

()
(1)
(1)

Can distinguish between noise and voice
Responds with smile

Recognizes people who care for him (any two)

Causes of damage

()
(1)

Perspiration

Carpet beetle

Precautions

(1)
(1v)
v)
(vi)
(@)

(1)
(i)
(iv)
v)
()

(1)
(1)
(1v)
(1x)
(@)

(1)
(1)

Clean/dry clean before storage
Spray insecticide in boxes before storing it
Change newspaper

Air dry to remove perspiration

Inability to carry out certain actions
Denial to wishes

Take away possessions

Minor discomfort

Feeling jealous (any four)

Trained to handle emergencies
Patient

Loves and cares for children
Honest

Any other (any four)

Supplementary foods and nutrition supplements are given to pregnant

women
Tetanus shots

Prenatal monitoring and referral services
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20.

21.

22.

23.

@iv)

Educated for hygiene and sanitation

(v) Educated for nutrition and child care (any four) [Vax 4 =2]
(1) Region - hilly - rice is grown more so would eat more rice/locally grown
foods are planned
(i) Religion - muslim - would eat halal meat, no pork
(i) Activity - heavy worker will need more calories
(iv) Age appropriate - children need more protein, calcium and iron rich foods
(v) Health appropriate - if suffer from any illness (any four) [V2 x4 =2]
(i) Not strained/sedimentation not done before boiling
@) Notboiled for 10 minutes
(i) not stored in clean containers/not allowed to boil
(iv) not stored in clean containers/not covered [V2ax 4 =2]
(i) Adulterant - kesari dal/lathyrus satyvus
Symptoms
@) Stiffknees
@ii1) Painin ankle joints
Safeguard
(@v) Buy food with standard mark/Ag mark
(v) Reputed company and reputed brand
(vi) Buy sealed packets/do not buy open packets [V2x 6 =13]
(1) Cleans plates with clean water and detergents/use disposable plates and
spoons
() Uses gloves toserve
@) Usesladles toserve
@iv) Coversfood
(v) Uses covered dustbin
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(vi) Uses fresh food/does not use any leftovers

(vii) Keeps nails trim

(viii) Does not dip fingers in water glass while serving

(ix) Uses spoon for tasting food

(x) Does not sneeze on food/does not handle food when cold/cough

(xi) Immediately wipes spills with clean cloth (any six) [V2x 6 =3]

(1)  Share transport to go to college

() Reduce expenditures - mix and match clothes/eat at home

@) Usecommunity facilities - library instead of buying books/public transport
@iv) Grow vegetables in pots/garden

(v) Help athome instead of keeping servants

(vi) Exchange notes/books

(vii) Share rental accommodation/books

(vii) Any other (any six) [V2x 6 =3]
For Hindi medium above alongwith below answer is correct

(1) Bargain prices and save and get satisfaction

(i) Borrow notes/books and derive satisfaction

(i) Buying things which will last for long time - get satisfaction

(iv) Watching movie together at home instead of spending in movie halls

(v)  Any other (any six including for direct/indirect) [V2x 6 =13]

(1  Will know exact amount of money in hand

() Leads to wasteful expenditure

@) May get overcharged

(iv) Money may not last throughout the month

(v) Money may be spent unsystematically

(vi) Norecords - do not have anything to refer from the past

(vii) Any other (any six) [V2x 6 =3]
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26.

27.

28.

()

(1i)
(i)
(1v)
v)
(vi)
()

(1)
(i)
(iv)

Draw an outline of sweater on paper

Use mild liquid soapor reetha-nut solution (do not soak)
Use light pressure (kneading and squeezing)

Use lukewarm water

Rinse all water - don't squeeze

Place on outline, pull to shape and leave dry on flat surface, in shade

Mild fever with chilliness and body pain

Pain when bends forward or lifts limbs

Foot drop

Paralysis after 2-3 days (any three) (Y2 mark each)

Prevention:

(@)

(1i)
(1)
(iv)
v)
(vi)

Polio drops given in 4 doses started at birth/booster dose at 18 months

Avoid crowding

Use pasteurized milk

Swimming pool chlorinated

Adopt anti fly measures/food hygiene

Dispose off excreta carefully (any three)

Emphasis:

Skirt:

()

(1)
(1)
(iv)

Belt on waist will emphasize it
Embroidery around the waist/hemline/any other
Contrasting colour on waist/border

Putting unusual button or applique work (any two)

Shirt:

@)

(1)
(1)
(iv)

Contrast collar/pocket/cuff
Embroidery around the waist/hemline/any other
Contrasting colour or waist/border

Putting unusual button or applique work (any two)
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29.

30.

Rhythm:

(@)
(i)
(ii1)
(iv)
(vii)

Repetition - repeat piping on neckline, hem and cuff
Gradation - Embroider flowers of varying sizes
Radiation - have puff sleeves/gathers in skirt

Parallelism - Pleats in skirt/tucks in shirt

Alteration - Embroider alternate row of flower and lines on upper bodice/

skirt

Difficulties:

(@)
(i)
(i)
(iv)
v)
(vi)
(vii)

Unable to follow blackboard work
Poor lighting

Lack of big prints in books
Non-availability of grey/green boards
Too much glare in visual aids

Clumsy

Feeling of inferiority complex

(viil) Feelisolated

(ix)

Any other (any four)

Aids Available

()

(i)
(i)
(iv)
v)
(vi)

Green/grey board
Magnifying glass

Audio aids

Motivation from teachers
Help from classmates

Enough lightinginclass (any four)

Modification:

@)
(ii)

Add anything rich in vitamin A and C in curd parantha

Give more curd for calcium
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31.

(i) Add methi/and other folic acid rich food (green leafy, soyabean etc.) in

parantha
(iv) Add besan/dal/soyabean/kale chane powder in atta for proteins
(any four relevant suggestions)
Reasons:
(1) Vitamin Ais needed for healthy glowing skin, healthy bones and vision of
infant
(i) Vitamin Cis needed to provide immunity to child
(i) Folic acid is needed for regeneration of blood cells
(i) Proteins is needed for repair and maintenance of cells and tissues
(v) Calciumis needed for production of milk/mineral absorption efficiency
increases (any four reasons)
A. Theright to information: This ensures provision of information about the

quality, standard, quantity, potency, purity, standard and price of goods and
services through detailed labels/leaflets/booklets, so as to protect the consumer
against unfair trade practices and not be misled by lack of information or

misinformation.

Steps taken by government:

(1)

(ii)
(iif)
(iv)

Issuing warnings along with advertisement of toxic products (e.g. cigarette
smoking is injurious to health) any other

Prohibits deceptive packaging. Example of imitation labels
Makes sure packages clearly identify their price and content
Any other (any one)

Right to basic needs: Right to basic goods and services guarantees dignified
living. It includes adequate food, clothing, health care, drinking water and

sanitation, shelter, education, energy and transportation

Steps taken by government

(1)
(ii)

Rations at subsidized rates for low income families

Health care facilities
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32.

@1) Safe drinking water

@iv) Low cost housing schemes

(vi) Any other (any one) [1x4=4]

PUBLIC PROVIDENT FUND

(1) Loan facility

() High rate of interest/8% interest

(i) Interesttax free

@iv) Can withdraw money after 6 years/premature withdrawal allowed
(v) Compound interest

OR NATIONAL SAVING CERTIFICATE (NSC)
(i) Highrate of interest/8%

(i) No limit of investment

@) Short time investment/Matures after 6 years

@iv) Can take loan against it

ORLIC

(1) Interesttax free

() Easy/Low premiums ininstallments

@) Can take loan

(iv) Family secure/future secure/life occident cover
OR PROVIDENT FUND

(1) Highrate of interest s (8.5% 9.5%)

(i) Compound interest (interest on interest)

(@) Every month cut from salary/easy payments

(iv) Takeloan

(v) Safefuture

OR FIXED DEPOSIT IN BANKS FOR S YEARS
(i Loan

() Higher rate of interest than savings
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@) Inculcate habit of saving
(@iv) Simple and accessible

(2mark each for name of scheme and %2 mark each for three features
each of two schemes) [Vax 8 =4]
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